cups for hot and cold beverages. PE or PLA lined. Packed 1000 per case. SHIP LOT: 200 Cases CUP, BIODEGRADABLE, 8 OZ No Leak paper cups for hot and cold beverages. PE or PLA lined.	PACK SIZE SPECIFICAT AWARDS THOROUGE IODEGRADABLE, 8 OZ No Leak paper r hot and cold beverages. PE or PLA lined.	ES FOR THE FOLLOWING TIONS REFLECT CURRENT ALL PACK SIZES WILL BE GHLY CONSIDERED AND EVALUATED.	Items listed are Pre-Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15
cups for hot and cold beverages. PE or PLA lined. Packed 1000 per case. SHIP LOT: 200 Cases CUP, BIODEGRADABLE, 8 OZ No Leak paper cups for hot and cold beverages. PE or PLA lined.	r hot and cold beverages. PE or PLA lined.											
cups for hot and cold beverages. PE or PLA lined.	OT: 200 Cases	600	BWK	#WНТ8НСИР	1000/CS	600	\$40.90	\$24,540.00	APPROVED BRAND	2-3 WEEKS	Housekeepers Supply	
Packed 1000 per case. SHIP LOT: 200 Cases	1000 per case.	600	APT Victoria Bay	260077	1000	600	\$37.95	\$22,770.00	samples delivered 7/2/24	This is a stock item for APT Memphis warehouse, so lead time will be within 5 days once we build inventory	American Paper & Twine	AWARD
LINERS, GARBAGE CAN - Can liners 44 X 54 olack LLD. 2.0 milk thickness. Please indicate case count. SHIP LOT: 200 Cases	LD. 2.0 milk thickness. Please indicate unt.	R-EXH 400	hamilton Plastics	370104	150	400	\$40.25		samples delivered 7/2/24. Note there are 150 per case	14-16 days ARO, or APT would stock in Memphis and it would be within 5 days	American Paper & Twine	
LINERS, GARBAGE CAN - Can liners 44 X 54 black LLD. 2.0 milk thickness. Please indicate case count.	.D. 2.0 milk thickness. Please indicate unt.	R-EXH 400	INT 4454	78000291	100 each/cs	400	\$38.60	\$15,440.00		1 week	Ladd Safety	AWARD
TRAY, 2 CELL COLD - Material minimum 14 mil DPS Heat sealable. Item Dimensions 8 3/4" X 6 3/8" X 2". Packed approximately 600 per case. ndicate if packed differently	Packed approximately 600 per case. if packed differently	LASTICS- CON-SLOW-2C	NO BID	NO BID	NO BID	NO BID	\$0.00	\$0.00				NO BID
SHIP LOT: 672 Cases	BLE, LOGO, COLOR PRINTED. HOT G MACHINE. Seal coating wound inside. fe up to 400 degrees (minimum thickness -	LASTICS- FLM-OS170	NO BID	NO BID	NO BID	NO BID	\$0.00	\$0.00				NO BID
	L(LOT: 672 Cases	LIDDING, POLYESTER, DUAL VABLE, LOGO, COLOR PRINTED. HOT NG MACHINE. Seal coating wound inside. safe up to 400 degrees (minimum thickness - auge) w. logo. Approximately 7.25" width x	LIDDING, POLYESTER, DUAL HABLE, LOGO, COLOR PRINTED. HOT NG MACHINE. Seal coating wound inside. safe up to 400 degrees (minimum thickness - auge) w. logo. Approximately 7.25" width x length. Film must be individually wrapped. PREFERRED PLASTICS- FLM-OS170 NO BID	LIDDING, POLYESTER, DUAL VABLE, LOGO, COLOR PRINTED. HOT NG MACHINE. Seal coating wound inside. Safe up to 400 degrees (minimum thickness - auge) w. logo. Approximately 7.25" width x length. Film must be individually wrapped. PREFERRED PLASTICS- FLM-OS170 NO BID NO BID NO BID	LIDDING, POLYESTER, DUAL IABLE, LOGO, COLOR PRINTED. HOT ING MACHINE. Seal coating wound inside. safe up to 400 degrees (minimum thickness - auge) w. logo. Approximately 7.25" width x length. Film must be individually wrapped. PREFERRED PLASTICS- FLM-OS170 NO BID NO BID NO BID NO BID NO BID	LIDDING, POLYESTER, DUAL ABBLE, LOGO, COLOR PRINTED. HOT NG MACHINE. Seal coating wound inside. safe up to 400 degrees (minimum thickness - auge) w. logo. Approximately 7.25" width x length. Film must be individually wrapped. PREFERRED PLASTICS- FLM-OS170 NO BID NO BID NO BID NO BID NO BID NO BID	LIDDING, POLYESTER, DUAL HABLE, LOGO, COLOR PRINTED. HOT NG MACHINE. Seal coating wound inside. safe up to 400 degrees (minimum thickness - auge) w. logo. Approximately 7.25" width x length. Film must be individually wrapped. PREFERRED PLASTICS- FLM-OS170 NO BID NO BID	LIDDING, POLYESTER, DUAL VABLE, LOGO, COLOR PRINTED. HOT NG MACHINE. Seal coating wound inside. safe up to 400 degrees (minimum thickness - auge) w. logo. Approximately 7.25° width x	LIDDING, POLYESTER, DUAL ABBLE, LOGO, COLOR PRINTED. HOT NG MACHINE: Seal coating wound inside. safe up to 400 degrees (minimum thickness- auge) w. logo. Approximately 7: 25" width x length. Film must be individually wrapped. PREFERRED PLASTICS- FLM-OS170 NO BID NO BID	LIDDING, POLYESTER, DUAL HABLE, LOGO, COLOR PRINTED. HOT NG MACHINE. Seal coating wound inside. safe up to 400 degrees (minimum thickness- auge) w. logo. Approximately 7.25" width x length. Film must be individually wrapped. PREFERRED PLASTICS- FLM-OS170 NO BID NO BI	LIDDING, POLYESTER, DUAL VABLE, LOGO, COLOR PRINTED. HOT NG MACHINE. Seal coating wound inside. safe up to 400 degrees (minimum thickness - auge) w. logo. Approximately 7.25° width x

Stock Number	Unit	Description	Approved Brands	Estimated Bid Units 2024- 2025	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	Bidder	AWARD
5011	Column 2	Column 3 DELI SHEETS, - Flat dry waxed paper with full we strength. Red checked with 1/2" plaid. Moisture and grease resistant for hot foods. Packed 6000 sheets per case. If packed differently please indicate.	Column 4 1 BROWN 7B9 - RC BROWN 7B3	300	Column 6 BROWN	#7B3	Column 8	Column 9	\$55.70	\$16,710.00	APPROVED 6000/CS USED THESE LAST YEAR	Column 13 2-3 WEEKS	Column 14 Housekeepers Supply	AWARD
		SHIP LOT: 300 Cases												
5012	CASE	FOIL, ALUMINIUM, HEAVY DUTY. Approximately 24 inches by 1000 feet per roll. Must be at least 001 mil inch thickness. SHIP LOT: 100 Cases	SYSCO/PACTIV/REYNOLDS (W69323) PACTIV 627 REYNOLDS 627 WESTERN FOIL 242 REDDI AFW24X1000H DAXWELL J10003532 DURABLE 92410	300	REDDI	#AFW24X1000H	ROLL	300	\$76.55	\$22,965.00	APPROVED 48/PALLET SHIP LOT 144 ROLLS	2-3 WEEKS	Housekeepers Supply	
5012	CASE	FOIL, ALUMINIUM, HEAVY DUTY. Approximately 24 inches by 1000 feet per roll. Must be at least 001 mil inch thickness. SHIP LOT: 100 Cases	SYSCO/PACTIV/REYNOLDS (W69323) PACTIV 627 REYNOLDS 627 WESTERN FOIL 242 REDDI AFW24X1000H DAXWELL J10003532 DURABLE 92410	300	APT Victoria Bay	034319	1	300	\$61.00	\$18,300.00	samples approved in 2023	This is a stock item for APT Memphis warehouse, so lead time will be within 5 days once we build inventory	American Paper & Twine	
5012	CASE	FOIL, ALUMINIUM, HEAVY DUTY. Approximately 24 inches by 1000 feet per roll. Must be at least 001 mil inch thickness. SHIP LOT: 100 Cases	SYSCO/PACTIV/REYNOLDS (W69323) PACTIV 627 REYNOLDS 627 WESTERN FOIL 242 REDDI AFW24X1000H DAXWELL J10003532 DURABLE 92410	300	Daxwell Distribution	J10003532	1	300	\$51.15	\$15,345.00		14 business days from receipt of purchase order	Daxwell Distribution	AWARD
5012	CASE	FOIL, ALUMINIUM, HEAVY DUTY. Approximately 24 inches by 1000 feet per roll. Must be at least 001 mil inch thickness. SHIP LOT: 100 Cases	SYSCO/PACTIV/REYNOLDS (W69323) PACTIV 627 REYNOLDS 627 WESTERN FOIL 242 REDDI AFW24X1000H DAXWELL J10003532 DURABLE 92410	300	Pactive	17306270	1000 ft	300	\$78.62	\$23,586.00		1 week	Ladd Safety	
5014	CASE	APRON, VINYL, POLY, DISPOSABLE,WHITE. Heavy weight with long ties. No design on apron. Approximate size 46 inch long X 28 inch wide. Packed approximately 500/case. SHIP LOT: 100 Cases	FOOD HANDLER-250-FH10(114642) FOOD HANDLER 250 - Fh3L IBS-AP2846 - 200PK INT-2846-DA	800	IBS	#AP2846	1000/CS	800	\$50.00	\$40,000.00	APPROVED 1000/CS	2-3 WEEKS	Housekeepers Supply	AWARD
5014	CASE	APRON, VINYL, POLY, DISPOSABLE,WHITE. Heavy weight with long ties. No design on apron. Approximate size 46 inch long X 28 inch wide. Packed approximately 500/case. SHIP LOT: 100 Cases	FOOD HANDLER-250-FH10(114642) FOOD HANDLER 250 - Fh3L IBS-AP2846 - 200PK INT-2846-DA	800	Food Handler	250FH	500	800	\$38.75	\$31,000.00		14-21 days ARO	American Paper & Twine	

Stock Number	Unit	Description	Approved Brands	Estimated Bid Units 2024- 2025	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	Bidder	AWARD
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15
5014	CASE	APRON, VINYL, POLY, DISPOSABLE,WHITE. Heavy weight with long ties. No design on apron. Approximate size 46 inch long X 26 inch wide. Packed approximately 500/case. SHIP LOT: 100 Cases	FOOD HANDLER-250-FH10(114642) FOOD HANDLER 250 - Fh3L IBS-AP2846 - 200PK INT-2846-DA	800	INT 2846	750072435	100/cs	800	\$23.25	\$18,600.00		1 week	Ladd Safety	Being that there are only 100 aprons per case, it would cost \$235 per case to equal the 1000 aprons per case that is priced at \$50.00, which HS has in their case. Therefore, no AWARD for this vendor.
5019	BUNDLE	BOXES, CORRUGATED, 24 X 19 X 13. Containers are to be 200 Pound test, RSC, C-fluted, glued inside, plain, bundled and/or unitized 125 boxes per bundle. SHIP LOT: 25 BUNDLES	AMERICAN PAPER & TWINE COMPANY 958144 GEORGIA PACIFIC (241913) GIBSON/SIGMA SUPPLY 241913 RUSKEN PACKAGING 494227	500	APT 958144	958144	125	500	\$240.00	\$120,000.00	There are 125 boxes per pallet, which you refer to as a bundle. Price qouted is pallet price for 125 each	7-14 days ARO	American Paper & Twine	AWARD
5020	EACH	MOPS, DECK WET, 32 oz Heavy duty, one piece 4-Ply wound Cotton Yarn, clear Lacquered 1 1/8 IN. X 48 IN. wooden handle. SHIP LOT: 12 Bundles	ABCO 50321 ABCO (CD-50024) CALICO CD- 50024	800	ABCO	#50321	EACH	800	\$7.22	\$5,776.00	APPROVED BRAND	2-3 WEEKS	Housekeepers Supply	AWARD
5020	EACH	MOPS, DECK WET, 32 oz Heavy duty, one piece 4-Ply wound Cotton Yarn, clear Lacquered 1 1/8 IN. X 48 IN. wooden handle. SHIP LOT: 12 Bundles	ABCO 50321 ABCO (CD-50024) CALICO CD- 50024	800	Abco	50024	each	800	\$4.75	\$3,800.00	These are sold in units of 12 each. Pricing is per each mop	7-14 days ARO	American Paper & Twine	The deck mop's spec is for a 32 oz and the ABCO 50024 that was initially awarded is for a 24 oz. mop. Therefore, the award for the mop now goes to Housekeepers Supply instead of American Paper and Twine.
5021	BUNDLE	BOXES, CORRUGATED, 19 X 16 X 13. Note: Above containers are to be 200 pound test, RSC, C-Fluted, Glued inside, plain, bundled and/or unitized. 125 boxes per bundle. SHIP LOT: 25 BUNDLES	AMERICAN PAPER & TWINE COMPANY/ GEORGIA PACIFIC 965619 RUSKEN Packaging 327626 GIBSON/SIGMA SUPPLY 191613	400	APT 965519	965619	125	400	\$185.00	\$74,000.00	There are 125 boxes per pallet, which you refer to as a bundle. Price qouted is pallet price for 125 each	7-14 days ARO	American Paper & Twine	AWARD
		CARRAGE LINES OF SAN OF STATE OF	LINIDAY CORP. 10000											
5025	CASE	GARBAGE LINER, CLEAR - Can liners 34 x 49 Clear super hexlene with no reprocessed resin added. Must have "Star Sealed" bottom configuration. 2.0 mil thickness. Please indicate case count. SHIP LOT: 500 Cases	UNIPAK CORP 492CO CALICO 99SP34X492CLR	9,000	IBS	#CL3449CL	cs	9000	\$26.75	\$240,750.00	SAMPLE SUBMITTED	2-3 WEEKS	Housekeepers Supply	SAMPLE SENT SAMPLE PASSED

Stock Number	Unit	Description	Approved Brands	Estimated Bid Units 2024- 2025	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	Bidder	AWARD
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8		Column 10	Column 11	Column 12	Column 13	Column 14	Column 15
5025	CASE	GARBAGE LINER, CLEAR - Can liners 34 x 49 Clear super hexlene with no reprocessed resin added. Must have "Star Sealed" bottom configuration. 2.0 mil thickness. Please indicate case count. SHIP LOT: 500 Cases	UNIPAK CORP 492CO CALICO 99SP34X492CLR	9,000	hamilton Plastics	special	100/cs	9000	\$20.35	\$183,150.00	samples delivered 7/2/24	14-21 days ARO		AWARD SAMPLE SENT SAMPLE PASSED
5025	CASE	GARBAGE LINER, CLEAR - Can liners 34 x 49 Clear super hexlene with no reprocessed resin added. Must have "Star Sealed" bottom configuration. 2.0 mil thickness. Please indicate case count. SHIP LOT: 500 Cases	UNIPAK CORP 492CO CALICO 99SP34X492CLR	9,000	Calico	99SP34X492CLR	100	9000	\$29.64	\$266,760.00	BIDDING AS SPECIFIED	14-21DAYS	Calico Packaging	,
5025	CASE	GARBAGE LINER, CLEAR - Can liners 34 x 49 Clear super hexlene with no reprocessed resin added. Must have "Star Sealed" bottom configuration. 2.0 mil thickness. Please indicate case count. SHIP LOT: 500 Cases	UNIPAK CORP 492CO CALICO 99SP34X492CLR	9,000	Unipak Corp.	492CO	100/Case	9000	\$21.40	\$192,600.00	As per exact Spec	1-2 Weeks	Unipak Corp	
5027	CASE	SOUFFLE CUPS, 2 OUNCE, CYLINDRICAL/ROUND. Clear or translucent plastic food container. Approximately 2500 cups per case. If different specify. For Shelby County Board of Education to select a successful bidder, pricing must be provided for line Stock #5045 (Lid) and the lowest combined price will prevail. SHIP LOT: 100 Cases	SYSCO MEMPHIS/PACTIV (7790239) SOLO B200N-0100 PACTIV YL5-200 PRIME SOURCE S200 DAXWELL E10002024	200	APT Victoria Bay	280107	2500	200	\$20.75	\$4,150.00	samples delivered 7/2/24	This is a stock item for APT Memphis warehouse, so lead time will be within 5 days once we build inventory	American Paper & Twine	
5027	CASE	SOUFFLE CUPS, 2 OUNCE, CYLINDRICAL/ROUND. Clear or translucent plastic food container. Approximately 2500 cups per case. If different specify. For Shelby County Board of Education to select a successful bidder, pricing must be provided for line Stock #5045 (Lid) and the lowest combined price will prevail. SHIP LOT: 100 Cases	SYSCO MEMPHIS/PACTIV (7790239) SOLO B200N-0100 PACTIV YL5-200 PRIME SOURCE S200 DAXWELL E10002024	200	Daxwell Distribution	E10002024	2500	200	\$18.05	\$3,610.00		14 business days from receipt of purchase order	Daxwell Distribution	AWARD
5027	CASE	SOUFFLE CUPS, 2 OUNCE, CYLINDRICAL/ROUND. Clear or translucent plastic food container. Approximately 2500 cups per case. If different specify. For Shelby County Board of Education to select a successful bidder, pricing must be provided for line Stock #5045 (Lid) and the lowest combined price will prevail. SHIP LOT: 100 Cases	SYSCO MEMPHIS/PACTIV (7790239) SOLO B200N-0100 PACTIV YL5-200 PRIME SOURCE S200 DAXWELL E10002024	200	Pactive	16202222	2400/cs	200	\$23.77	\$4,754.00		1 week	Ladd Safety	

Stock Number	Unit	Description	Approved Brands	Estimated Bid Units 2024- 2025	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	Bidder	AWARD
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8		Column 10	Column 11	Column 12	Column 13	Column 14	Column 15
5029	CASE	WRAP, FILM POLY- Poly film wrap made for an automatic pallet wrapping machine. One sided cling clear film. SHIP LOT: 100 Cases	WESTERN WXL16	900	WESTERN	#WXL16	CASE	900	\$29.40	\$26,460.00	APPROVED BRAND SHIP LOT 200CS	2-3 WEEKS	Housekeepers Supply	AWARD
5029	CASE	WRAP, FILM POLY- Poly film wrap made for an automatic pallet wrapping machine. One sided cling clear film. SHIP LOT: 100 Cases	WESTERN WXL16	900	Sigma	APT # 045746	50	900	\$30.30	\$27,270.00	Minimum order qty is 50 rolls, or 1 pallet. Priced per roll	This is a stock item for APT Memphis warehouse, so lead time will be within 5 days once we build inventory	American Paper & Twine	
5032	ROLL	FILM, SANDWICH. APPROXIMATELY 12 INCHES X 2000 FEET per roll, in dispenser box with metal cutter, ply-vinyl. SHIP LOT: 200 ROLLS		600	IBS	#FSW1202K	ROLL	600	\$8.90	\$5,340.00	APPROVED BRAND	2-3 WEEKS	Housekeepers Supply	
5032	ROLL	FILM, SANDWICH. APPROXIMATELY 12 INCHES X 2000 FEET per roll, in dispenser box with metal cutter, ply-vinyl. SHIP LOT: 200 ROLLS		600	APT Victoria Bay	180026	1	600	\$8.80	\$5,280.00	samples delivered 7/2/24	This is a stock item for APT Memphis warehouse, so lead time will be within 5 days once we build inventory	American Paper & Twine	AWARD SAMPLE SENT SAMPLE PASSED
5032	ROLL	FILM, SANDWICH. APPROXIMATELY 12 INCHES X 2000 FEET per roll, in dispenser box with metal cutter, ply-vinyl. SHIP LOT: 200 ROLLS		600	Daxwell Distribution	J20004597	1	600	\$10.00	\$6,000.00		14 business days from receipt of purchase order	Daxwell Distribution	
5032	ROLL	FILM, SANDWICH. APPROXIMATELY 12 INCHES X 2000 FEET per roll, in dispenser box with metal cutter, ply-vinyl. SHIP LOT: 200 ROLLS		600	Pactive	17306243	2000 feet	600	\$13.88	\$8,328.00		1 week	Ladd Safety	
5033	ROLL	FILM, SANDWICH. APPROXIMATELY 18 INCHES X 2000 FEET Per Roll, in dispenser box with meatal cutter, poly-vinyl. SHIP LOT: 200 ROLLS	AMERICAN PAPER & TWINE COMPANY/ BORDEN (30550400) BORDEN 21W1A WESTERN 182P - DAXWELL J20004598 PACTIVYALUEPLUS 7803141 HOUSEKEEPERS SUPPLY FSW1802K-IBS DURABLE PVC1820 GFS/ANCHOR 7329182	800	HOUSEKEEPERS SUPPLY-IBS	#FSW1802K	ROLL	800	\$13.30	\$10,640.00	APPROVED BRAND	2-3 WEEKS	Housekeepers Supply	

Stock Number	Unit	Description	Approved Brands	Estimated Bid Units 2024- 2025	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	Bidder	AWARD
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8		Column 10	Column 11	Column 12	Column 13	Column 14	Column 15
5033	ROLL	FILM, SANDWICH. APPROXIMATELY 18 INCHES X 2000 FEET Per Roll, in dispenser box with meatal cutter, poly-vinyl. SHIP LOT: 200 ROLLS	AMERICAN PAPER & TWINE COMPANY/ BORDEN (30550400) BORDEN 21W1A WESTERN 182P - DAXWELL J20004598 PACTIV/VALUEPLUS 7803141 HOUSEKEEPERS SUPPLY FSW1802K-IBS DURABLE PVC1820 GFS/ANCHOR 7329182	800	APT Victoria Bay	180027	1	800	\$11.99	\$9,592.00	samples approved in 2023	This is a stock item for APT Memphis warehouse, so lead time will be within 5 days once we build inventory	American Paper & Twine	AWARD
5033	ROLL	FILM, SANDWICH. APPROXIMATELY 18 INCHES X 2000 FEET Per Roll, in dispenser box with meatal cutter, poly-vinyl. SHIP LOT: 200 ROLLS	AMERICAN PAPER & TWINE COMPANY/ BORDEN (30550400) BORDEN 21W1A WESTERN 182P - DAXWELL J20004598 PACTIV/VALUEPLUS 7803141 HOUSEKEEPERS SUPPLY FSW1802K-IBS DURABLE PVC1820 GFS/ANCHOR 7329182	800	Daxwell Distribution	J20004598	1	800	\$13.43	\$10,744.00		14 business days from receipt of purchase order	Daxwell Distribution	
5033	ROLL	FILM, SANDWICH. APPROXIMATELY 18 INCHES X 2000 FEET Per Roll, in dispenser box with meatal cutter, poly-vinyl. SHIP LOT: 200 ROLLS	AMERICAN PAPER & TWINE COMPANY/ BORDEN (30550400) BORDEN 21W1A WESTERN 182P - DAXWELL J20004598 PACTIV/VALUEPLUS 7803141 HOUSEKEEPERS SUPPLY FSW1802K-IBS DURABLE PVC1820 GFS/ANCHOR 7329182	800	Pactive	17306244	2000 feet	800	\$14.36	\$11,488.00		1 week	Ladd Safety	
5034	CASE	SOS LUNCH BAG - 18x11x32cm EACH. White kraft paper bags need to be labeld hot with the Memphis-Shelby County Schools logo on top. Please refer to the MSCS website under the Communications Link for logo specifications. SHIP LOT: 200 Cases	VENDISCO HOT	500	Vendisco	SOSPAPERBAG(HOT)	1000	500	\$219.69	\$109,845.00	182 cases available 3 weeks from order. Remaining cases available in 12 weeks	3-12 weeks	Vendisco	AWARD
5036	ROLL	ROLL, WRAP, STRETCH. DIMENSIONS: Approximately 18: X 1500' each. Each roll must be a minimum of 80 gauge, Pallet hand wrap. SHIP LOT: 160 ROLLS	SIGMA SUPPLY INC./ SIGMA PLASTICS HBH 1811580 AEP INDUSTRIES HH-1880 APT 181209	1,200	АРТ	181209	4	300	\$9.95	\$11,940.00	Sold by the case, with 4 rolls per case. Case price is \$39.80, roll price is \$9.95. 40 cases per pallet	This is a stock item for APT Memphis warehouse, so lead time will be within 5 days once we build inventory	American Paper & Twine	AWARD
5037	CASE	GLOVES,VINYL, SEAMLESS, POWDERLESS, EXTRA LARGE - Extra Large vinyl glove. Fits either hand with a natural color. Approximate pack 100/box, 10 boxes per case. Please bid by the case. SHIP LOT: 200 Cases	DAXWELL (F10001749) WALLACE VPF-X4 HOUSKEEPERS IBS VF 004 INTERBORO - MED PRIDE XL-VPFG UNIPAK VPF-XL CALICO "THE SAFETY ZONE" GVP9-XL	400	HOUSEKEEPERS-IBS	#VF004	10 BOXES OF 100/BOX =1000/CS	400	\$17.44	\$6,976.00	APPROVED BRAND	2-3 WEEKS	Housekeepers Supply	
5037	CASE	GLOVES,VINYL, SEAMLESS, POWDERLESS, EXTRA LARGE - Extra Large vinyl glove. Fits either hand with a natural color. Approximate pack 100/box, 10 boxes per case. Please bid by the case. SHIP LOT: 200 Cases	DAXWELL (F10001749) WALLACE VPF-X4 HOUSKEEPERS IBS VF 004 INTERBORO - MED PRIDE XL-VPFG UNIPAK VPF-XL CALICO "THE SAFETY ZONE" GVP9-XL	400	Amercare 23994	971859	10 bx of 100 per case	400	\$17.55	\$7,020.00	Sold by the case.	14-16 days ARO, or APT would stock in Memphis and it would be within 5 days	American Paper & Twine	

Stock Number	Unit	Description	Approved Brands	Estimated Bid Units 2024- 2025	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	Bidder	AWARD
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15
5037	CASE	GLOVES,VINYL, SEAMLESS, POWDERLESS, EXTRA LARGE - Extra Large vinyl glove. Fits either hand with a natural color. Approximate pack 100/box, 10 boxes per case. Please bid by the case. SHIP LOT: 200 Cases	DAXWELL (F10001749) WALLACE VPF-X4 HOUSKEEPERS IBS VF 004 INTERBORO - MED PRIDE XL-VPFG UNIPAK VPF-XL CALICO "THE SAFETY ZONE" GVP9-XL	400	Daxwell Distribution	F10001749	1000	400	\$16.14	\$6,456.00		14 business days from receipt of purchase order	Daxwell Distribution	AWARD
5037	CASE	GLOVES,VINYL, SEAMLESS, POWDERLESS, EXTRA LARGE - Extra Large vinyl glove. Fits either hand with a natural color. Approximate pack 100/box, 10 boxes per case. Please bid by the case. SHIP LOT: 200 Cases	DAXWELL (F10001749) WALLACE VPF-X4 HOUSKEEPERS IBS VF 004 INTERBORO - MED PRIDE XL-VPFG UNIPAK VPF-XL CALICO "THE SAFETY ZONE" GVP9-XL	400	Housekeepers/IBS	7500	10/boxes of 100	400	\$16.26	\$6,504.00		1 week	Ladd Safety	
5038	EACH/PAIR	GLOVES, RUBBER- Large Size, Color, Approximately 13-14 inches long. Pack 144 per box. SHIP LOT: 200 Cases	CALICO INDUSTRIES, INC. G2 (29G03LP) AMBITEX LLG6500 (388522) Wallace VPF Series CORDOVA SAFETY 4259R.	400	CORDOVA	#4259R	CASE	400	\$67.68	\$27,072.00	APPROVED BRAND (PRICE IS .47/PAIR 144PR/CASE)	2-3 WEEKS	Housekeepers Supply	144x.47=\$67.68 400 cases x \$67.68 Extended Cost \$27,072
5038	EACH/PAIR	GLOVES, RUBBER- Large Size, Color, Approximately 13-14 inches long. Pack 144 per box. SHIP LOT: 200 Cases	CALICO INDUSTRIES, INC. G2 (29G03LP) AMBITEX LLG6500 (388522) Wallace VPF Series CORDOVA SAFETY 4259R.	400	Cordova 4259	special	12 dz case	400	\$67.20	\$26,880.00	12 dozen or 144 each per case. Would be .93 per pair (72 pair per case)	14-21 days ARO	American Paper & Twine	
5038	EACH/PAIR	GLOVES, RUBBER- Large Size, Color, Approximately 13-14 inches long. Pack 144 per box. SHIP LOT: 200 Cases	CALICO INDUSTRIES, INC. G2 (29G03LP) AMBITEX LLG6500 (388522) Wallace VPF Series CORDOVA SAFETY 4259R.	400	Cordova	4259R	144/cs	400	\$64.00	\$25,600.00		1 week	Ladd Safety	AWARD
5039	CASE	HAIR NETS, INVISIBLE NYLON WITH ELASTIC. Fine mesh, regular, full size, color dark brown or black. Pack 144 per box. THIS ITEM IS PURCHASED BY THE CASE SHIP LOT: 100 Cases	SEIDMAN (DPLW144DB) KEYSTONE 1091 CELLCAP HNADB FLAVOSEAL HN-BN24 MED PRIDE 70424 INTERBORO PACKAGING 70424-305	200	Cellucap HN4DB	944246	10/144	200	\$88.75	\$17,750.00	88.75 is the case price. There are 10 boxes of 144 each per case, or 1440 per case	14-21 days ARO	American Paper & Twine	AWARD
5040	DOZEN	POT HOLDER, SIZE APPROXIMATELY 8 1/2"X 11". 100% New flexon cotton yarn, weight approximately 32 Ounces to a square yard, double bonded. SHIP LOT: 25 Dozen	CALICO (15PH1C)	200	Buccaneer 911BP	33643	dozen	200	\$105.00	\$21,000.00	105.00 is the dozen price, which is \$8.75 per pair. These are packed in cases of 36 pair, with case price being \$315	14-16 days ARO, or APT would stock in Memphis and it would be within 5 days	American Paper & Twine	AWARD

Stock Number	Unit	Description	Approved Brands	Estimated Bid Units 2024- 2025	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	Bidder	AWARD
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15
5045	CASE	LIDS FOR 2 OUNCE SOUFFLE CUPS. Clear or translucent food container, approximately 2500 per case. If different specify. For Shelby County Board of Education to select a successful	SYSCO MEMPHIS, LLC/SYSCO/PACTIV (YLS2FRSYS)	200	APT Victoria Bay	035381	2500	200	\$19.00	\$3,800.00	samples delivered 7/2/24	This is a stock item for APT Memphis	American Paper & Twine	SAMPLE SENT
5045	CASE	Board of Education to select a successful	SYSCO MEMPHIS, LLC/SYSCO/PACTIV (YLS2FRSYS) PACTIV YSL2FR SOLO PL2-0090 DAXWELL E10004472	200	Daxwell Distribution	E10004472	2500	200	\$17.21	\$3,442.00		14 business days from receipt of purchase order	Daxwell Distribution	AWARD
5045	CASE	LIDS FOR 2 OUNCE SOUFFLE CUPS. Clear or translucent food container, approximately 2500 per case. If different specify. For Shelby County Board of Education to select a successful bidder, pricing must be provided for line Stock #5027(Cup) and the lowest combined price will prevail. SHIP LOT: 100 Cases	SYSCO MEMPHIS, LLC/SYSCO/PACTIV (YLS2FRSYS) PACTIV YSL2FR SOLO PL2-0090 DAXWELL E10004472	200	Pactive	16202161	2400/cs	200	\$23.20	\$4,640.00		1 week	Ladd Safety	
5047	CASE	SANDWICH WEDGE CONTAINER - Disposable plastic sandwich container that is wedge shaped with a clear view window to show product. Wedge container is approximately 6 13/16" x 2 15/16". Design allows for container to sit up for display. Container is grease resistant. Packed approximately 250 per case. If packed differently, please indicate pack size. SHIP LOT: 200 Cases	ANCHOR 4511019	400	ANCHOR	#4511019	250/CS	400	\$35.90	\$14,360.00	APPROVED BRAND	2-3 WEEKS	Housekeepers Supply	
5047	CASE	SANDWICH WEDGE CONTAINER - Disposable plastic sandwich container that is wedge shaped with a clear view window to show product. Wedge container is approximately 6 13/16" x 2 15/16". Design allows for container to sit up for display. Container is grease resistant. Packed approximately 250 per case. If packed differently, please indicate pack size. SHIP LOT: 200 Cases	ANCHOR 4511019	400	Anchor 4511019	030615	250	400	\$33.95	\$13,580.00		This is a stock item for APT Memphis warehouse, so lead time will be within 5 days once we build inventory	American Paper & Twine	AWARD

Stock Number	Unit	Description	Approved Brands	Estimated Bid Units 2024- 2025	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	Bidder	AWARD
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15
5047	CASE	Column 3 SANDWICH WEDGE CONTAINER - Disposable plastic sandwich container that is wedge shaped with a clear view window to show product. Wedge container is approximately 6 13/16" x 2 15/16". Design allows for container to sit up for display. Container is grease resistant. Packed approximately 250 per case. If packed differently, please indicate pack size.	ANCHOR 4511019	400	Anchor	10800541	250/cs	400	\$34.36	\$13,744.00		1 week	Ladd Safety	
		SHIP LOT: 200 Cases												
5049	CASE	QUILON TREATED PAN LINERS, Approximately 24 3/8" X 16 3/8". Maximum temperature 400 Degrees F. Packed 1000 sheets/case. Specify if count is different. SHIP LOT: 250 Cases	BROWN 162-1, HANDY WACKS GEORGIA PACIFIC/JAMES RIVER L010, JAMES RIVER L010 QUILON (NORPAK CORP.) PAPERCON 25QLXL DISPOZ-O BPL-R49	700	BROWN	#162-1	1000/CS	700	\$41.94	\$29,358.00	APPROVED BRAND	2-3 WEEKS	Housekeepers Supply	AWARD
5049	CASE	24 3/8" X 16 3/8". Maximum temperature 400	BROWN 162-1, HANDY WACKS GEORGIA PACIFIC/JAMES RIVER L010, JAMES RIVER L010 QUILON (NORPAK CORP.) PAPERCON 25QLXL DISPOZ-O BPL-R49	700	Handy Wacks	special	1000	700	\$50.87	\$35,609.00		14-21 days ARO	American Paper & Twine	
5049	CASE	QUILON TREATED PAN LINERS, Approximately 24 3/8" X 16 3/8". Maximum temperature 400 Degrees F. Packed 1000 sheets/case. Specify if count is different. SHIP LOT: 250 Cases	BROWN 162-1, HANDY WACKS GEORGIA PACIFIC/JAMES RIVER L010, JAMES RIVER L010 QUILON (NORPAK CORP.) PAPERCON 25QLXL DISPOZ-O BPL-R49	700	Brown/Primesource	75003991	1000/cs	700	\$48.83	\$34,181.00		1 week	Ladd Safety	
5051	BUNDLE	LUNCH SACKS, WHITE #8 BAGS. PACKED IN BUNDLES OF 500. SHIP LOT: 200 BUNDLE	SYSCO APT -DURA 18408 HK-120308	400	IBS	#WHTPB8#	500/BDL	400	\$19.99	\$7,996.00	SAMPLE SUBMITTED	2-3 WEEKS	Housekeepers Supply	
5051	BUNDLE	LUNCH SACKS, WHITE #8 BAGS. PACKED IN BUNDLES OF 500. SHIP LOT: 200 BUNDLE	SYSCO APT -DURA 18408 HK-120308	400	APT Victoria Bay	035191	500	400	\$13.50	\$5,400.00	samples delivered 7/2/24	This is a stock item for APT Memphis warehouse, so lead time will be within 5 days once we build inventory	American Paper & Twine	AWARD SAMPLE SENT SAMPLE PASSED
5051	BUNDLE	LUNCH SACKS, WHITE #8 BAGS. PACKED IN BUNDLES OF 500. SHIP LOT: 200 BUNDLE	SYSCO APT -DURA 18408 HK-120308	400	APT-Duro	13201562	500/cs	400	\$14.24	\$5,696.00		1 week	Ladd Safety	
5052	CASE	NAPKINS, PAPER. Approximately 250 napkins per package, approximately 40 packages per case, Please specify if different. MINIMUM NAPKIN SIZE: 7 INCHES X 13 1/2 INCHES. SHIP LOT: 200 Cases	HOUSEKEEPERS SUPPLY CO/ HATTISBURG PAPER CO (55712) SCA D3056B HK-1250	800	HOUSEKEEPERS SUPPLY	#1250	10,000/CS	800	\$29.36	\$23,488.00	APPROVED BRAND	2-3 WEEKS	Housekeepers Supply	AWARD SAMPLE SENT SAMPLE PASSED

Stock Number	Unit	Description	Approved Brands	Estimated Bid Units 2024- 2025	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	Bidder	AWARD
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15
5052	CASE	NAPKINS, PAPER. Approximately 250 napkins per package, approximately 40 packages per case, Please specify if different. MINIMUM NAPKIN SIZE: 7 INCHES X 13 1/2 INCHES. SHIP LOT: 200 Cases	HOUSEKEEPERS SUPPLY CO/ HATTISBURG PAPER CO (55712) SCA D3056B HK-1250	800	Morcon D20500	023645	10000	800	\$34.45	\$27,560.00	samples delivered 7/2/24	This is a stock item for APT Memphis warehouse, so lead time will be within 5 days once we build inventory	American Paper & Twine	SAMPLE SENT SAMPLE PASSED
5052	CASE	NAPKINS, PAPER. Approximately 250 napkins per package, approximately 40 packages per case, Please specify if different. MINIMUM NAPKIN SIZE: 7 INCHES X 13 1/2 INCHES. SHIP LOT: 200 Cases	HOUSEKEEPERS SUPPLY CO/ HATTISBURG PAPER CO (55712) SCA D3056B HK-1250	800	Housekeepers/Rightchoice	78000338	500/cs	800	\$23.99	\$19,192.00		1 week	Ladd Safety	NO SAMPLE SENT
5054	CASE	SCOURING POWER PAD. Pad to be non-woven blue color and bow-tie shaped for comfort and easy scouring. Designed to give maximum scourign power without scratching the surface. Must clean heavily encrusted pots and pans, sinks, doors, and walls. When applicable, delivered items must be accompanied by the Safety Data Sheet (SDS).	APT-519783	200	зм	#3000CT (SAME AS APT- 519783)	20/CS	200	\$49.90	\$9,980.00	APPROVED BRAND	2-3 WEEKS	Housekeepers Supply	
		SHIP LOT: 100 Cases												
5054	CASE	SCOURING POWER PAD. Pad to be non-woven blue color and bow-tie shaped for comfort and easy scouring. Designed to give maximum scourign power without scratching the surface. Must clean heavily encrusted pots and pans, sinks, doors, and walls. When applicable, delivered items must be accompanied by the Safety Data Sheet (SDS).	APT-519783	200	APT 519783 3M	519783	20	200	\$36.75	\$7,350.00		This is a stock item for APT Memphis warehouse, so lead time will be within 5 days once we build inventory	American Paper & Twine	AWARD
		SHIP LOT: 100 Cases												
5057	CASE	Paper, Multi-Use. 8 1/2 x 11, White, 500 sheet pkg., grain long, 10M, 20 lb. (75g/m2), smooth. Multi-purpose or dual purpose. SHIP LOT: 300 Cases	AMERICAN PAPER & TWINE COMPANY/ GEORGIA PACIFIC SPECTRUM (561650) Xerocopy Valley Forge 027276.	1,200	APT 561650	561650	10M	1200	\$39.90	\$47,880.00	This is using State of Tn contract pricing as of 6/15/24	This is a stock item for APT Memphis warehouse, so lead time will be within 5 days.	American Paper & Twine	
5057	CASE	Paper, Multi-Use. 8 1/2 x 11, White, 500 sheet pkg., grain long, 10M, 20 lb. (75g/m2), smooth. Multi-purpose or dual purpose. SHIP LOT: 300 Cases	AMERICAN PAPER & TWINE COMPANY/ GEORGIA PACIFIC SPECTRUM (561650) Xerocopy Valley Forge 027276.	1,200	APT Norpac	036006	10M	1200	\$37.00	\$44,400.00	This is a new item for APT, available on 7/15/24. Sample sent on 7/2/24. This is proposed as an alternate to 561650	This is a stock item for APT Memphis warehouse, so lead time will be within 5 days.	American Paper & Twine	AWARD SAMPLE SENT SAMPLE PASSED
											above			

Stock				Estimated Bid		Manufacturer's Product		Estimated	Cost per	Extended Total		LEAD TIME FROM		
Number	Unit	Description	Approved Brands	Units 2024- 2025	Bidder Brand	Code	Pack Size	Number of Cases	Unit/Case	Cost	NOTES	ORDER (IN WEEKS)	Bidder	AWARD
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15
5058	EACH	BROOM, POLYPROLENE - Medium weight polypropolene bristle broom. Handle attached. Approximately 48" tall with a 12 " sweep length. SHIP LOT: 250	ABCO BR-1024MH	700	ABCO	#BR-1024MH	EACH	700	\$3.46	\$2,422.00	APPROVED BRAND	2-3 WEEKS	Housekeepers Supply	
5058	EACH	BROOM, POLYPROLENE - Medium weight polypropolene bristle broom. Handle attached. Approximately 48" tall with a 12 " sweep length. SHIP LOT: 250	ABCO BR-1024MH	700	Abco 1024MH	special	each	700	\$3.40	\$2,380.00	These are sold in units of 12 each. Pricing is per each broom	14-21 days ARO	American Paper & Twine	AWARD
		CANDINION MEAN FOR PARED NO REGION	DACTIV MCC											
5060	CASE	SANDWICH WRAP, FOIL/PAPER. NO DESIGN 10.5 X 14" SHEETS. Packed 4-500 count boxes per case. APPROVED BRANDS:	PACTIV W66, BAGCRAFT 300815, BROWN 5C14	600	BROWN	#5C14	CS	600	\$81.16	\$48,696.00	APPROVED BRAND	2-3 WEEKS	Housekeepers Supply	AWARD
		SHIP LOT: 200 Cases												
5060	CASE	SANDWICH WRAP, FOIL/PAPER. NO DESIGN 10.5 X 14" SHEETS. Packed 4-500 count boxes per case. APPROVED BRANDS: SHIP LOT: 200 Cases	PACTIV W66, BAGCRAFT 300815, BROWN 5C14	600	Bagcraft	10900816	2000/cs	600	\$105.13	\$63,078.00		1 week	Ladd Safety	
5061	CASE	HAND SOAP - 1 Liter certridge that comes in six per case. SHIP LOT: 100 Cases	S. C. JOHNSON DEB - AZU1L (756013)	1,200	SCJOHNSON DEB AZU1L	AZU1L	cs	1200	\$52.55	\$63,060.00	APPROVED BRAND	2-3 WEEKS	Housekeepers Supply	
5061	CASE	HAND SOAP - 1 Liter certridge that comes in six per case. SHIP LOT: 100 Cases	S. C. JOHNSON DEB - AZU1L (756013)	1,200	Deb	756013	6/11	1200	\$34.15	\$40,980.00		This is a stock item for APT Memphis warehouse, so lead time will be within 5 days once we build inventory	American Paper & Twine	AWARD
		CANDWICH MIDAD FOIL (DADED DES	DACCDAFT 200040											
5062	CASE	SANDWICH WRAP, FOIL/PAPER. RED COLORED SHEETS. Packed 4-500 Count boxes per case. SHIP LOT: 100 Cases	BROWN 5C132CR	400	BROWN	#5C132CR	CS	400	\$60.00	\$24,000.00	APPROVED BRAND	2-3 WEEKS	Housekeepers Supply	AWARD
5062	CASE	SANDWICH WRAP, FOIL/PAPER. RED COLORED SHEETS. Packed 4-500 Count boxes per case.	BAGCRAFT 300842 BAGCRAFT 300827 BROWN 5C132CR	400	Bagcraft	10900842	2000/cs	400	\$203.54	\$81,416.00		1 week	Ladd Safety	
		SHIP LOT: 100 Cases												

Stock Number	Unit	Description	Approved Brands	Estimated Bid Units 2024- 2025	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	Bidder	AWARD
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15
5063	EACH	SLEEVE, HEAT PROTECTIVE, 18 INCH Strong, heat resistant, anti scratch, and 100 % cut resistant sleeves. Lightweight, safety and durable sleeves. Stretch fabric with thumb slot. 18 inch long sleeve that protects arms from cuts, abrasions and lacerations. SHIP LOT: 100	HOUSEKEEPERS SUPPLY 3018 KEVLAR (CORDOVA) 3018	600	KEVLAR (CORDOVA)	#3018	EACH	600	\$2.99	\$1,794.00	APPROVED BRAND	2-3 WEEKS	Housekeepers Supply	
5063	EACH	SLEEVE, HEAT PROTECTIVE, 18 INCH Strong, heat resistant, anti scratch, and 100 % cut resistant sleeves. Lightweight, safety and durable sleeves. Stretch fabric with thumb slot. 18 inch long sleeve that protects arms from cuts, abrasions and lacerations. SHIP LOT: 100	HOUSEKEEPERS SUPPLY 3018 KEVLAR (CORDOVA) 3018	600	Cordova 3018	special	each	600	\$3.75	\$2,250.00		14-21 days ARO	American Paper & Twine	
5063	EACH	SLEEVE, HEAT PROTECTIVE, 18 INCH Strong, heat resistant, anti scratch, and 100 % cut resistant sleeves. Lightweight, safety and durable sleeves. Stretch fabric with thumb slot. 18 inch long sleeve that protects arms from cuts, abrasions and lacerations. SHIP LOT: 100	HOUSEKEEPERS SUPPLY 3018 KEVLAR (CORDOVA) 3018	600	Housekeepers/Cordova 3018	3018	each	600	\$2.75	\$1,650.00		1 week	Ladd Safety	AWARD
5066	PKG	TAPE, POLYPROPYLENE, TRANSPARENT, 1.8 mil 2"in width with a 3"core. Box sealing tape with acrylic adhesive. 21 lb. tensile strength. Edge tear and split reisitent. Suitable for use in cold temperature applications. Packed 36 Rolls/Case. SHIP LOT: 100	SHURTAPE #230982 APT- 810005	500	АРТ	810005	36	500	\$51.84	\$25,920.00	51.84 is the case price. Roll price is \$1.44	This is a stock item for APT Memphis warehouse, so lead time will be within 5 days once we build inventory	American Paper & Twine	AWARD
5066	PKG	TAPE, POLYPROPYLENE, TRANSPARENT, 1.8 mil 2"in width with a 3"core. Box sealing tape with acrylic adhesive. 21 lb. Lensile strength. Edge tear and split resistent. Suitable for use in cold temperature applications. Packed 36 Rolls/Case. SHIP LOT: 100	SHURTAPE #230982 APT- 810005	500	APT/3M	T9FB2280776	36/cs	500	\$87.25	\$43,625.00		1 week	Ladd Safety	
5067	EACH	for tape approximately 2 inches in width. SHIP LOT: 50	APT- QPC209	200	APT QPC209	026087	each	200	\$8.25	\$1,650.00		This is a stock item for APT Memphis warehouse, so lead time will be within 5 days once we build inventory	American Paper & Twine	AWARD
5067	EACH	DISPENSER, HEAVY-DUTY, PACKAGING TAPE. Product should contain an adjustable tape break for tape approximately 2 inches in width. SHIP LOT: 50	GLOBAL INDUSTRIAL T15008 APT- QPC209	200	global industrial	T15008	each	200	\$15.50	\$3,100.00		1 week	Ladd Safety	

Number	Unit	Description	Approved Brands	Estimated Bid Units 2024- 2025	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	Bidder	AWARD
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15
5068	CASE	TISSUE, TOILET. 2-PLY WHITE 4.5X3.8" 500 Sheets per roll. Minimum Pack 96 Rolls per case. SHIP LOT: 100 Cases	HOUSEKEEPERS SUPPLY/ATLAS-(235) VON DREHLE -RT500 RT500 SCA TM1616S	600	Vondrehle	451816	96	600	\$38.20	\$22,920.00		This is a stock item for APT Memphis warehouse, so lead time will be within 5 days once we build inventory	American Paper & Twine	AWARD
5069	DOZEN	DISH TOWELS/BAR TOWELS. Triplex Loop, 2 Threads per loop, Single rib. 100% New Cotton Yarn, Cut size approximately 17 X 20 Inches, weight approximately 12 each per pack. SHIP LOT: 200 Doz.	HOUSEKEEPING SUPPLY 94403 HORACE MADDOX TEXTILES JOHN RITZENTHALER KE/BVT-700BRT28.	600	HOUSEKEEPERS SUPPLY	#94403	100DZ/BALE	600	\$8.30	\$4,980.00	APPROVED BRAND	2-3 WEEKS	Housekeepers Supply	AWARD
5069	DOZEN	DISH TOWELS/BAR TOWELS. Triplex Loop, 2 Threads per loop, Single rib. 100% New Cotton Yarn, Cut size approximately 17 X 20 Inches, weight approximately 12 each per pack. SHIP LOT: 200 Doz.	HOUSEKEEPING SUPPLY 94403 HORACE MADDOX TEXTILES JOHN RITZENTHALER KE/BVT-700BRT28.	600	Buccaneer BMRB1DZ	033644	dozen	600	\$8.65	\$5,190.00	sampled and approved in 2023	This is a stock item for APT Memphis warehouse, so lead time will be within 5 days once we build inventory	American Paper & Twine	SAMPLE SENT SAMPLE PASSED
5070	CASE	PAPER TOWELS, HAND. 1 1/4 inch core diameter. Strong, soft absorbent, non-perforated towels, natural color. 8" X 800 FT. Rolls. Packed 6 rolls per case. SHIP LOT: 400 Cases	AMERICAN PAPER & TWINE COMPANY 880NP	2,000	APT Victoria Bay	450039	6	2000	\$18.75	\$37,500.00	samples delivered 7/2/24	This is a stock item for APT Memphis warehouse, so lead time will be within 5 days once we build inventory	American Paper & Twine	AWARD
5072	CASE	PLATE, DISPOSABLE, 10 INCH, 3- COMPARTMENT. MOLDED FIBER PRODUCT, Made with a blend of sugar cane and bamboo. Compostable, soak through resistant or other acceptable processing to add rigidity and resist grease, moisture absorption and leaks. Color: White or Beige. Approximate Pack: 500 plates per case.	CHINET 25777, PACTIV MC500440002, CHINET 21105 AMER-CARE-PL-11	1,200	BERK	#1287916	500/CS	1200	\$48.72	\$58,464.00	APPROVED BRAND	2-3 WEEKS	Housekeepers Supply	
5072	CASE	SHIP LOT: 500 Cases PLATE, DISPOSABLE, 10 INCH, 3- COMPARTMENT. MOLDED FIBER PRODUCT, Made with a blend of sugar cane and bamboo. Compostable, soak through resistant or other acceptable processing to add rigidity and resist grease, moisture absorption and leaks. Color: White or Beige. Approximate Pack: 500 plates per case. SHIP LOT: 500 Cases	CHINET 25777, PACTIV MC500440002, CHINET 21105 AMER-CARE-PL-11	1,200	APT Victoria Bay	034747	500	1200	\$43.95	\$52,740.00	samples delivered 7/2/24	This is a stock item for APT Memphis warehouse, so lead time will be within 5 days once we build inventory	American Paper & Twine	AWARD SAMPLE SENT SAMPLE PASSED
5072	CASE	PLATE, DISPOSABLE, 10 INCH, 3-COMPARTMENT. MOLDED FIBER PRODUCT, Made with a blend of sugar cane and bamboo. Compostable, soak through resistant or other acceptable processing to add rigidity and resist grease, moisture absorption and leaks. Color: White or Beige. Approximate Pack: 500 plates per case. SHIP LOT: 500 Cases	CHINET 25777, PACTIV MC500440002, CHINET 21105 AMER-CARE-PL-11	1,200	Pactive	16206878	500/cs	1200	\$60.71	\$72,852.00		1 week	Ladd Safety	

Stock Number	Unit	Description	Approved Brands	Estimated Bid Units 2024- 2025	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	Bidder	AWARD
Column 1	Column 2		Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15
5073	CASE	PAPER MULTI-USE, 8 1/2 x 14- White 500 grain sheet pkg, grain long 10M 20IB. SHIP LOT: 100 Cases	AMERICAN PAPER & TWINE 561690	400	АРТ	561703	10m	400	\$59.90	\$23,960.00	same paper as 561690, just part number change. This is State contract pricing	This is a stock item for APT Memphis warehouse, so lead time will be within 5 days once we build inventory	American Paper & Twine	AWARD
5074	CASE	PAPER, COPY 11 X 17 - White 500 grain sheet pck, grain long, smooth paper. SHIP LOT: 25 Cases	GEORGIA PACIFIC SPECTRUM 561553	25	АРТ	561553	5M	25	\$47.00	\$1,175.00	This is State of TN contract pricing	This is a stock item for APT Memphis warehouse, so lead time will be within 5 days once we build inventory	American Paper & Twine	AWARD
		51m 251. 25 54355												
5076	CASE	TRAY, FOOD, THREE POUND PAPER TRAY, 500 per case. Red and white plaid design. SHIP LOT: 500 Cases	HOUSEKEEPERS SQP-8703, SOLO NFT3-1011, JAMES RIVER KL300, SOUTHERN CHAMPION 0425 FONDA 35300 MY ECOPLANET	1,400	SOUTHERN CHAMPION	#0425	500/CS	1400	\$18.83	\$26,362.00	APPROVED BRAND	2-3 WEEKS	Housekeepers Supply	
5076	CASE	TRAY, FOOD, THREE POUND PAPER TRAY, 500 per case. Red and white plaid design. SHIP LOT: 500 Cases	HOUSEKEEPERS SQP-8703, SOLO NFT3-1011, JAMES RIVER KL300, SOUTHERN CHAMPION 0425 FONDA 35300 MY ECOPLANET	1,400	SQP 8703	special	500	1400	\$15.99	\$22,386.00	samples delivered 7/2/24	14-16 days ARO, or APT would stock in Memphis and it would be within 5 days	American Paper & Twine	AWARD SAMPLE SENT SAMPLE PASSED
5076	CASE	TRAY, FOOD, THREE POUND PAPER TRAY, 500 per case. Red and white plaid design. SHIP LOT: 500 Cases	HOUSEKEEPERS SQP-8703, SOLO NFT3-1011, JAMES RIVER KL300, SOUTHERN CHAMPION 0425 FONDA 35300 MY ECOPLANET	1,400	Southern Champ	18406522	500/cs	1400	\$18.35	\$25,690.00		1 week	Ladd Safety	
5077	CASE	TRAYS, FIVE (OR MORE) COMPARTMENT. Made with styro foam. Soak through resistant or other acceptance processing to add rigidity and resist grease, moisture absorption and leaks. Color: White or Beige. Approximately 500 per case. Must be palletized.	SOUTHERN CHAMPION 0425 PACTIV YTH105000SGBX ECOPLANET -FTS -500-CMP HOUSEKEEPER APT ECOPAX- RST- 8 HOUSEKEEPERS SUPPLY #STL-5	7,000	PACTIV	#YTH10500	500/CS	7000	\$21.40	\$149,800.00	APPROVED BRAND	2-3 WEEKS	Housekeepers Supply	
L		SHIP LOT: 520 Cases												
5077	CASE	TRAYS, FIVE (OR MORE) COMPARTMENT. Made with styro foam. Soak through resistant or other acceptance processing to add rigidity and resist grease, moisture absorption and leaks. Color: White or Beige. Approximately 500 per case. Must be palletized.	SOUTHERN CHAMPION 0425 PACTIV YTH105000SGBX ECOPLANET -FTS -500-CMP HOUSEKEEPER APT ECOPAX- RST- 8 HOUSEKEEPERS SUPPLY #STL-5	7,000	Pactiv YTH105000SGBX	047547	500	7000	\$19.85	\$138,950.00	white 5 compartment	This is a stock item for APT Memphis warehouse, so lead time will be within 5 days once we build inventory	American Paper & Twine	AWARD SAMPLE SENT SAMPLE PASSED
5077	CASE	resist grease, moisture absorption and leaks. Color: White or Beige. Approximately 500 per	HOUSEKEEPER APT ECOPAX- RST- 8	7,000	Pactiv YTH105000SGBX	047547	500	7000	\$19.85	\$138,950.00		ti	varehouse, so lead ime will be within 5 days once we build	varehouse, so lead ime will be within 5 days once we build

Stock Number	Unit	Description	Approved Brands	Estimated Bid Units 2024- 2025	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	Bidder	AWARD
Column 1	Column 2	TRAYS, FIVE (OR MORE) COMPARTMENT. Made with styro foam. Soak through resistant or other acceptance processing to add rigidity and resist grease, moisture absorption and leaks. Color: White or Beige. Approximately 500 per case. Must be palletized.	Column 4 SOUTHERN CHAMPION 0425 PACTIV YTH105000SGBX ECOPLANET -FTS -500-CMP HOUSEKEEPER APT ECOPAX- RST- 8 HOUSEKEEPERS SUPPLY #STL-5	7,000	Column 6 Pactive	Column 7 16200410	Column 8 500/cs	7000	\$22.05	\$154,350.00	Column 12	Column 13	Column 14 Ladd Safety	Column 15
		SHIP LOT: 520 Cases												
5078	CASE	SANDWICH WRAP, FOIL/PAPER 10.5 X 14" SHEETS. SOLID YELLOW OR GOLD IN COLOR. Packed 4-500 Count boxes per case. SHIP LOT: 100 Cases	BAGCRAFT 300816 BROWN 5C13-2CY ECOPAX RE993 EP-HCP1 PACTIV YTH10500	800	BROWN	#5C13-2CY	2000/CS	800	\$60.00	\$48,000.00	APPROVED BRAND	2-3 WEEKS	Housekeepers Supply	AWARD
5079	CASE	CLEANING TOWELS, DISPOSABLE- Heavy duty extended use disposable cleaning towels. White. 12x 20 in a packaged pop-up box. SHIP LOT: 200 Cases	APT 470719	800	АРТ	470719	1200 each per case	800	\$55.75	\$44,600.00		This is a stock item for APT Memphis warehouse, so lead time will be within 5 days once we build inventory	American Paper & Twine	AWARD
5080	CASE	SMALL PAPER FOOD TRAY,1/4 LB. 1000 per case preferred, specify if different. SHIP LOT: 100 Cases	SOUTHERN CHAMPION 0401 FONDA 35025 HUHTAMAKI 35122032	300	SQP7125	special	1000	300	\$12.95	\$3,885.00	samples delivered	14-16 days ARO, or APT would stock in Memphis and it would be within 5 days	American Paper & Twine	SAMPLE SENT SAMPLE FAILED
5080	CASE	SMALL PAPER FOOD TRAY,1/4 LB. 1000 per case preferred, specify if different. SHIP LOT: 100 Cases	SOUTHERN CHAMPION 0401 FONDA 35025 HUHTAMAKI 35122032	300	Southern Champ	18406516	1000/cs	300	\$15.20	\$4,560.00		1 week	Ladd Safety	NO SAMPLE SENT
5083	CASE	WHITE TAKE OUT LUNCH BOX/CHICKEN BOX, No handles, no windows. Minimum approximate dimensions 8 7/8" X 4 7/8" X 3 1/16" and maximum approximate dimensions 9" X 5" X 3". Made from paper board material. Grease resistant. SHIP LOT: 100 Case	DIXIE 964W SOUTHERN CHAMPION-SCT2729	3,000	HOTPACK	#CK2	CS	250/CS	\$45.85	\$137,550.00	SAMPLE SUBMITTED	APPROX LEAD TIME 10 WEEKS FROM ARO	Housekeepers Supply	SAMPLE SENT SAMPLE FAILED
5083	CASE	WHITE TAKE OUT LUNCH BOX/CHICKEN BOX, No handles, no windows. Minimum approximate dimensions 8 7/8" X 4 7/8" X 3 1/16" and maximum approximate dimensions 9" X 5" X 3". Made from paper board material. Grease resistant. SHIP LOT: 100 Case	DIXIE 964W SOUTHERN CHAMPION-SCT2729	3,000	SCT2729	048443	250	3000	\$53.40	\$160,200.00		2-3 weeks ARO	American Paper & Twine	

Stock Number	Unit	Description	Approved Brands	Estimated Bid Units 2024- 2025	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	Bidder	AWARD
Column 1 5083	Column 2	Column 3 WHITE TAKE OUT LUNCH BOX/CHICKEN BOX, No handles, no windows. Minimum approximate dimensions 8 7/8" X 4 7/8" X 3 1/16" and maximum approximate dimensions 9" X 5" X 3". Made from paper board material. Grease resistant.	Column 4 DIXIE 964W SOUTHERN CHAMPION-SCT2729	3,000	Column 6 Southern Champ	Column 7	Column 8	3000	\$52.20	Column 11 \$156,600.00	Column 12	Column 13	Column 14 Ladd Safety	Column 15 NO SAMPLE SENT
		SHIP LOT: 100 Case												
5084	EACH	SLEEVE, HEAT PROTECTIVE, 22 INCH Strong, heat resistant, anti scratch, and 100 % cut resistant sleeves. Lightweight, safety and durable sleeves. Stretch fabric with thumb slot. 22 inch long sleeve that protects arms from cuts, abrasions and lacerations.	HOUSEKEEPERS SUPPLY 3022T KEVLAR (CORDOVA) 3022T	200	KEVLAR (CORDOVA)	#3022T	EACH	200	\$4.20	\$840.00	APPROVED BRAND	2-3 WEEKS	Housekeepers Supply	
		SHIP LOT: 100 Cases												
5084	EACH	SLEEVE, HEAT PROTECTIVE, 22 INCH Strong, heat resistant, anti scratch, and 100 % care resistant sleeves. Lightweight, safety and durable sleeves. Stretch fabric with thumb slot. 22 inch long sleeve that protects arms from cuts, abrasions and lacerations.	HOUSEKEEPERS SUPPLY 3022T KEVLAR (CORDOVA) 3022T	200	Cordova 3022T	special	each	200	\$4.50	\$900.00		2-3 weeks ARO	American Paper & Twine	
		SHIP LOT: 100 Cases												
5084	EACH	SLEEVE, HEAT PROTECTIVE, 22 INCH Strong, heat resistant, anti scratch, and 100 % cut resistant sleeves. Lightweight, safety and durable sleeves. Stretch fabric with thumb slot. 22 inch long sleeve that protects arms from cuts, abrasions and lacerations.	HOUSEKEEPERS SUPPLY 3022T KEVLAR (CORDOVA) 3022T	200	housekeepers/Cordova	3022T	each	200	\$3.85	\$770.00		1 week	Ladd Safety	AWARD
		SHIP LOT: 100 Cases												
		TRAVO SIVE (OR MORE) COMPART.	AMERICAN PARED A TIMBE AND ST											
5085	CASE	TRAYS, FIVE (OR MORE) COMPARTMENT, BLACK. Made with styro foam. Soak through resistant or other acceptable processing to add rigidity and resist grease, moisture absorption and leaks. Color: Black. Approxomately 500 per case. Must be palletized	AMERICAN PAPER & TWINE - 034041 PACTIV-PCYTH0500SGBX	9,000	PACTIV	#YTHB0500	500/CS	9000	\$21.40	\$192,600.00	APPROVED BRAND	2-3 WEEKS	Housekeepers Supply	
		SHIP LOT: 800 Cases												
5085	CASE	TRAYS, FIVE (OR MORE) COMPARTMENT, BLACK. Made with styro foam. Soak through resistant or other acceptable processing to add rigidity and resist grease, moisture absorption and leaks. Color: Black. Approxomately 500 per case. Must be palletized	AMERICAN PAPER & TWINE - 034041 PACTIV-PCYTH0500SGBX	9,000	Pactiv PCYTH0500SGBX	047544	500	9000	\$19.85	\$178,650.00	,		American Paper & Twine	AWARD
		SHIP LOT: 800 Cases												

Stock Number	Unit	Description	Approved Brands	Estimated Bid Units 2024- 2025	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	Bidder	AWARD
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15
5085	CASE	TRAYS, FIVE (OR MORE) COMPARTMENT, BLACK. Made with styro foam. Soak through resistant or other acceptable processing to add rigidity and resist grease, moisture absorption and leaks. Color: Black. Approxomately 500 per case. Must be palletized SHIP LOT: 800 Cases	AMERICAN PAPER & TWINE - 034041 PACTIV-PCYTH0500SGBX	9,000	Pactive	16202221	500/cs	9000	\$22.04	\$198,360.00		1 week	Ladd Safety	
5086	CASE	TRAYS, FIVE COMPARTMENT, BLACK, PEBBLE PLATE. Black pebble plate material. Ultra durable. Cut, grease, and moisture resistant. BPA and PFAS free. Packed 240 per case. SHIP LOT: 500 Cases	ACTION CHEMICAL - PCTYTHB0500SG HOUSEKEEPERS SUPPLY #18340 ECOPAX-PPSR-8-BK	4,000	Pactiv PCYTH0500SGBX	047544	500	9000	\$19.85	\$79,400.00	post covid, most have stopped making pebble cost, we suggest using same item as 5085 as you have the last 24 months.		American Paper & Twine	AWARD
5086	CASE	TRAYS, FIVE COMPARTMENT, BLACK, PEBBLE PLATE. Black pebble plate material. Ultra durable. Cut, grease, and moisture resistant. BPA and PFAS free. Packed 240 per case.	ACTION CHEMICAL - PCTYTHB0500SG HOUSEKEEPERS SUPPLY #18340 ECOPAX-PPSR-8-BK	4,000	Housekeepers	78980200	500/cs	4000	\$47.25	\$189,000.00		1 week	Ladd Safety	
		SHIP LOT: 500 Cases												
5093	CASE	LID, SINGLE SERVING 5 OZ. For Memphis- Shelby County Board of Education to select a successful bidder, pricing must be provided for line Stock #5094 (Bowl) and the lowest combined price will prevail. Packed 500 lids per case SHIP LOT: 200 Cases	ANCHOR PACKAGING LH4800D	600	ANCHOR	#LH4800D	540/CS	600	\$34.57	\$20,742.00	APPROVED BRAND	2-3 WEEKS	Housekeepers Supply	
5093	CASE	LID, SINGLE SERVING 5 OZ. For Memphis- Shelby County Board of Education to select a successful bidder, pricing must be provided for line Stock #5094 (Bowl) and the lowest combined price will prevail. Packed 500 lids per case SHIP LOT: 200 Cases	ANCHOR PACKAGING LH4800D	600	Anchor LH4800D	special	540	555	\$32.50	\$19,500.00	Samples delivered on 7/2/24. Anchor has 540 per case, so only 555 case needed at total cost of \$18,037.50	14-21 days ARO	American Paper & Twine	AWARD SAMPLE SENT SAMPLE PASSED
5093	CASE	LID, SINGLE SERVING 5 OZ. For Memphis- Shelby County Board of Education to select a successful bidder, pricing must be provided for line Stock #5094 (Bowl) and the lowest combined price will prevail. Packed 500 lids per case SHIP LOT: 200 Cases	ANCHOR PACKAGING LH4800D	600	Anchor	10800323	540/cs	600	\$32.49	\$19,494.00		1 week	Ladd Safety	NO SAMPLE SENT

Stock Number	Unit	Description	Approved Brands	Estimated Bid Units 2024- 2025	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	Bidder	AWARD
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15
5094	CASE	BOWL, SINGLE SERVING 5 OZ. For Memphis- Shelby County Board of Education to select a successful bidder, pricing must be provided for line Stock #5093 (Lid) and the lowest combined price will prevail. Packed 500 bowls per case SHIP LOT: 200 Cases	ANCHOR PACKAGING M4805B	600	ANCHOR	#M4805B	540/CS	600	\$44.97	\$26,982.00	APPROVED BRAND	2-3 WEEKS	Housekeepers Supply	
5094	CASE	BOWL, SINGLE SERVING 5 OZ. For Memphis- Shelby County Board of Education to select a successful bidder, pricing must be provided for line Stock #5093 (Lid) and the lowest combined price will prevail. Packed 500 bowls per case SHIP LOT: 200 Cases	ANCHOR PACKAGING M4805B	600	Anchor M4805B	special	540	555	\$41.50	\$24,900.00	Samples delivered on 7/2/24. Anchor has 540 per case, so only 555 case needed at total cost of \$23,032.5	14-21 days ARO	American Paper & Twine	AWARD SAMPLE SENT SAMPLE PASSED
5094	CASE	BOWL, SINGLE SERVING 5 OZ. For Memphis- Shelby County Board of Education to select a successful bidder, pricing must be provided for line Stock #5093 (Lid) and the lowest combined price will prevail. Packed 500 bowls per case SHIP LOT: 200 Cases	ANCHOR PACKAGING M4805B	600	Anchor	10800331	540/cs	600	\$42.30	\$25,380.00		1 week	Ladd Safety	NO SAMPLE SENT
5095	CASE	SOS LUNCH BAG - 18x11x32cm EACH. White Kraft Paper Bags need to be labeld cold with the Memphis-Shelby County Schools logo on top. Please refer to the MSCS website under the Communications Link for logo specifications. SHIP LOT: 200 Cases	VENDISCO COLD	200	Vendisco	SOSPAPERBAG(COLD)	1000	200	\$219.69	\$43,938.00	all cases available	3 weeks	Vendisco	AWARD
5099	CASE	DELI SHEETS, MSCS LOGO- Flat dry waxed paper with full wet strength. Must have MSCS color printed logo. Moisture and grease resistant for hot foods. Packed 6000 sheets per case. If packed differently please indicate. Please refer to the MSCS website under the Communications Link for logo specifications.	NO APPROVED BRAND	100	Vendisco	GreaseproofMSCS	6000	100	\$200.64	\$20,064.00		12 weeks	Vendisco	AWARD
5100	CASE	GLOVES, VINYL, SEAMLESS, POWDERLESS, LARGE - Large vinyl glove. Fits either hand with a natural color. Approximate pack 100/box, 10 boxes per case. Please bid by the case. SHIP LOT: 200 Cases	DAXWELL (F10001750) WALLACE VPF-M2 MED PRIDE MEDVGSO61 IBS VF002 JOB SELECT 102-216 TRADEX - V5201	600	IBS	#VF003	10 BOXES OF 100/BOX =1000/CS	600	\$17.44	\$10,464.00	APPROVED BRAND	2-3 WEEKS	Housekeepers Supply	

Stock Number	Unit	Description	Approved Brands	Estimated Bid Units 2024- 2025	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	Bidder	AWARD
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8		Column 10	Column 11	Column 12	Column 13	Column 14	Column 15
5100	CASE	GLOVES, VINYL, SEAMLESS, POWDERLESS, LARGE - Large vinyl glove. Fits either hand with a natural color. Approximate pack 100/box, 10 boxes per case. Please bid by the case. SHIP LOT: 200 Cases	DAXWELL (F10001750) WALLACE VPF-M2 MED PRIDE MEDVGSO61 IBS VF002 JOB SELECT 102-216 TRADEX - V5201	600	Amercare 23993	030661	10/100	600	\$17.55	\$10,530.00	samples delivered 7/2/24	This is a stock item for APT Memphis warehouse, so lead time will be within 5 days once we build inventory	American Paper & Twine	SAMPLE SENT SAMPLE PASSED
5100	CASE	GLOVES, VINYL, SEAMLESS, POWDERLESS, LARGE - Large vinyl glove. Fits either hand with a natural color. Approximate pack 100/box, 10 boxes per case. Please bid by the case.	DAXWELL (F10001750) WALLACE VPF-M2 MED PRIDE MEDVGSO61 IBS VF002 JOB SELECT 102-216 TRADEX - V5201	600	Daxwell Distribution	F10001750	1000	600	\$16.14	\$9,684.00		14 business days from receipt of purchase order	Daxwell Distribution	AWARD
5100	CASE	LARGE - Large vinyl glove. Fits either hand with a natural color. Approximate pack 100/box, 10 boxes per case. Please bid by the case.	DAXWELL (F10001750) WALLACE VPF-M2 MED PRIDE MEDVGSO61 IBS VF002 JOB SELECT 102-216 TRADEX - V5201	600	med pride	7500	10/boxes of 100	600	\$16.26	\$9,756.00		1 week	Ladd Safety	
		SHIP LOT: 200 Cases												
5102	CASE	STEAM TABLE PAN, DISPOSABLE, ALUMINUM, 3" DEEP, FULL SIZE, Packed 50 per case. For Shelby County Schools to select a successful bidder, pricing must be provided for line Stock #5103 (Lid) and the lowest combined price will prevail. SHIP LOT: 200 Cases	WESTERN PLASTICS 5130P SYSCO #5278023, HANDI-FOIL 2019-7, FS DURABLE 7900-100.	1,300	WESTERN	#5130P	50/CS	1300	\$39.90	\$51,870.00	APPROVED BRAND	2-3 WEEKS	Housekeepers Supply	
5102	CASE	STEAM TABLE PAN, DISPOSABLE, ALUMINUM, 3" DEEP, FULL SIZE, Packed 50 per case. For Shelby County Schools to select a successful bidder, pricing must be provided for line Stock #5103 (Lid) and the lowest combined price will prevail. SHIP LOT: 200 Cases	WESTERN PLASTICS 5130P SYSCO #5278023, HANDI-FOIL 2019-7, FS DURABLE 7900-100.	1,300	APT Victoria Bay	034315	50	1300	\$39.00	\$50,700.00	This is an approved foil and has been used the last 12 months.		American Paper & Twine	AWARD
5103	CASE	DISPOSABLE PAN LIDS, FOR FULL SIZED PANS. ALUMINUM. FITS PANS SIZED 18 1/16 X 13 5/16 X 3. APPROXIMATELY PACKED 100 PER CASE. For Shelby County Schools to select a successful bidder, pricing must be provided for line Stock #5102 (Pan) and the lowest combined price will prevail. SHIP LOT: 200 Cases	WESTERN PLASTICS 5000, SYSCO #4125068, DURABLE 8900-50XX	900	WESTERN	#5000	50/CS	900	\$21.90	\$19,710.00	APPROVED BRAND	2-3 WEEKS	Housekeepers Supply	
5103	CASE	DISPOSABLE PAN LIDS, FOR FULL SIZED PANS. ALUMINUM. FITS PANS SIZED 18 1/16 X 3 5/16 X 3. APPROXIMATELY PACKED 100 PER CASE. For Shelby County Schools to select a successful bidder, pricing must be provided for line Stock #5102 (Pan) and the lowest combined price will prevail. SHIP LOT: 200 Cases	WESTERN PLASTICS 5000, SYSCO #4125068, DURABLE 8900-50XX	900	APT Victoria Bay	034314	50	900	\$19.00	\$17,100.00	This is an approved foil and has been used the last 12 months.		American Paper & Twine	AWARD

Stock Number Column 1	Unit	Description Column 3	Approved Brands Column 4	Estimated Bid Units 2024- 2025 Column 5	Bidder Brand Column 6	Manufacturer's Product Code Column 7	Pack Size	Estimated Number of Cases Column 9	Cost per Unit/Case Column 10	Extended Total Cost	NOTES Column 12	LEAD TIME FROM ORDER (IN WEEKS) Column 13	Bidder Column 14	AWARD Column 15
5104	CASE	DISPOSABLE STEAMTABLE PAN LID. Lid for 1/2 sized pan. Aluminum. Approximately packed 100/cs. For Shelby County Schools to select a successful bidder, pricing must be provided for line Stock #5105 (Pan) and the lowest combined price will prevail. SHIP LOT: 100 Cases	WESTERN 5001 PLASTICS (5001) DURABLE 8200-100XX SYSCO 6938211	100	WESTERN	#5001	100/CS	100	\$21.69	\$2,169.00	APPROVED BRAND	2-3 WEEKS	Housekeepers Supply	
5104	CASE	DISPOSABLE STEAMTABLE PAN LID. Lid for 1/2 sized pan. Aluminum. Approximately packed 100/cs. For Shelby County Schools to select a successful bidder, pricing must be provided for line Stock #5105 (Pan) and the lowest combined price will prevail. SHIP LOT: 100 Cases	WESTERN 5001 PLASTICS (5001) DURABLE 8200-100XX SYSCO 6938211	100	APT Victoria Bay	034313	100	100	\$17.50	\$1,750.00	This is an approved foil and has been used the last 12 months.		American Paper & Twine	AWARD
5105	CASE	DISPOSABLE STEAMTABLE PAN. 1/2 SIZE PAN. ALUMINUM. APPROXIMATELY PACKED 100/CS. For Shelby County Schools to select a successful bidder, pricing must be provided for line MCS Stock #5104 (Lid) and the lowest combined price will prevail. SHIP LOT: 100 Cases	DURABLE FS4200-100, WESTERN PLASTICS 5132P SYSCO 6938112.	100	WESTERN	#5132P	100/CS	100	\$29.31	\$2,931.00	APPROVED BRAND	2-3 WEEKS	Housekeepers Supply	
5105	CASE		DURABLE FS4200-100, WESTERN PLASTICS 5132P SYSCO 6938112. VICTORIA BAY 34316	100	APT Victoria Bay	034316	100	100	\$23.50	\$2,350.00	This is an approved foil and has been used the last 12 months.		American Paper & Twine	AWARD SAMPLE SENT SAMPLE PASSED APPROVED/ LOCATED IN EDISON
5107	CASE	GLOVES, SEAMLESS, POWDERLESS, VINYL. Fits either hand. Medium size, natural color. Approximate pack 100 per box, 10 boxes per case. SHIP LOT: 200 Cases	DAXWELL (F10001748) WALLACE VPF-L3 IBS VF003 MPR 50304	200	IBS	#VF002	10 BOXES OF 100/BOX =1000/CS	200	\$17.44	\$3,488.00	APPROVED BRAND	2-3 WEEKS	Housekeepers Supply	
5107	CASE	Fits either hand. Medium size, natural color.	DAXWELL (F10001748) WALLACE VPF-L3 IBS VF003 MPR 50304	200	Amercare 23992	047990	10/100	200	\$17.55	\$3,510.00	samples delivered 7/2/24	This is a stock item for APT Memphis warehouse, so lead time will be within 5 days once we build inventory	American Paper & Twine	SAMPLE SENT SAMPLE PASSED

Stock Number	Unit	Description	Approved Brands	Estimated Bid Units 2024- 2025	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	Bidder	AWARD
5107	CASE	Column 3 GLOVES, SEAMLESS, POWDERLESS, VINYL. Fits either hand. Medium size, natural color. Approximate pack 100 per box, 10 boxes per case. SHIP LOT: 200 Cases	Column 4 DAXWELL (F10001748) WALLACE VPF-L3 IBS VF003 MPR 50304	Column 5	Column 6 Daxwell Distribution	F10001748	Column 8	Column 9	\$16.14	\$3,228.00	Column 12	14 business days from receipt of purchase order	Column 14 Daxwell Distribution	AWARD
5107	CASE	GLOVES, SEAMLESS, POWDERLESS, VINYL. Fits either hand. Medium size, natural color. Approximate pack 100 per box, 10 boxes per case. SHIP LOT: 200 Cases	DAXWELL (F10001748) WALLACE VPF-L3 IBS VF003 MPR 50304	200	ibs	7500	10/boxes of 100	200	\$16.26	\$3,252.00		1 week	Ladd Safety	
5126	CASE	DISPOSABLE 9"x9"x3" WHITE FOAM 3-COMPARTMENT HINGED CONTAINER. Three seperate chambers for numerous items to be packed together. Durable, sturdy construction to resist leaks, grease soak throughs and moisture leaks. SHIP LOT: 300 Cases	PACTIV - YTD19903	1,500	PACTIV	#YTD19003	150/CS	1500	\$17.85	\$26,775.00	APPROVED BRAND	2-3 WEEKS	Housekeepers Supply	
5126	CASE	DISPOSABLE 9"x9"x3" WHITE FOAM 3- COMPARTMENT HINGED CONTAINER. Three seperate chambers for numerous items to be packed together. Durable, sturdy construction to resist leaks, grease soak throughs and moisture leaks. SHIP LOT: 300 Cases	PACTIV - YTD19903	1,500	Pactive YTD19903	045260	150	1500	\$17.25	\$25,875.00		This is a stock item for APT Memphis warehouse, so lead time will be within 5 days once we build inventory	American Paper & Twine	AWARD
5126	CASE	DISPOSABLE 9"x9"x3" WHITE FOAM 3- COMPARTMENT HINGED CONTAINER. Three seperate chambers for numerous items to be packed together. Durable, sturdy construction to resist leaks, grease soak throughs and moisture leaks.	PACTIV - YTD19903	1,500	Pactive	16202036	150/cs	1500	\$17.60	\$26,400.00		1 week	Ladd Safety	
5129	CASE	STRAWS, INDIVIDUALLY WRAPPED - Jumbo, clear wrapped straw. Individually wrapped for sanitation. Ideal for water, juice, and soda. Approximately 7 3/4" in length. Approximate pack: 2000/case. SHIP LOT: 200 Cases	No Approved Brands	400	BERK	#1246200	5000/CS	400	\$29.80	\$11,920.00	SAMPLE SUBMITTED	2-3 WEEKS	Housekeepers Supply	AWARD SAMPLE SENT SAMPLE PASSED

Stock Number	Unit	Description	Approved Brands	Estimated Bid Units 2024- 2025	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	Bidder	AWARD
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15
5129	CASE	STRAWS, INDIVIDUALLY WRAPPED - Jumbo, clear wrapped straw. Individually wrapped for sanitation. Ideal for water, juice, and soda. Approximately 7 3/4" in length. Approximate pack: 2000/case. SHIP LOT: 200 Cases	No Approved Brands	400	APT Victoria Bay	770325	10000/cs	80	\$60.00	\$24,000.00	This is a bulk packed straw. Our price is \$60.00 per case of 10,000 straws. Instead of buying 400 cases of 2000 qty, you will only need to buy 80 cases of ours, so spend is really only \$4800.00. samples delivered 7/2/24	This is a stock item for APT Memphis warehouse, so lead time will be within 5 days once we build inventory	American Paper & Twine	
5129	CASE	STRAWS, INDIVIDUALLY WRAPPED - Jumbo, clear wrapped straw. Individually wrapped for sanitation. Ideal for water, juice, and soda. Approximately 7 3/4" in length. Approximate pack: 2000/case. SHIP LOT: 200 Cases	No Approved Brands	400	Primesource	76009731	12,000/cs	400	\$46.25	\$18,500.00		1 week	Ladd Safety	
5139	CASE	SOUFFLE CUP, 5 - 5.5 OZ - Plastic Soufflé Cup — Clear , heavy duty. Must hold 5ozs. of product. Please see spec for matching lid. Approximately 2 inches in height. For Memphis-Shelby County Board of Education to select a successful bidder, pricing must be provided for line Stock #5140 (Lid) and the lowest combined price will prevail. SHIP LOT: 500 Cases	SOUTH WING 88500WHC KARAT FP-P550-PP	1,000	APT Victoria Bay	280055	2500	1000	\$33.75	\$33,750.00	samples delivered 7/2/24	This is a stock item for APT Memphis warehouse, so lead time will be within 5 days once we build inventory	American Paper & Twine	SAMPLE SENT SAMPLE PASSED
5139	CASE	SOUFFLE CUP, 5 - 5.5 OZ - Plastic Soufflé Cup — Clear , heavy duty. Must hold 5ozs. of product. Please see spec for matching lid. Approximately 2 inches in height. For Memphis-Shelby County Board of Education to select a successful bidder, pricing must be provided for line Stock #5140 (Lid) and the lowest combined price will prevail. SHIP LOT: 500 Cases	SOUTH WING 88500WHC KARAT FP-P550-PP	1,000	Daxwell Distribution	E10004471	2500	1000	\$34.05	\$34,050.00		14 business days from receipt of purchase order	Daxwell Distribution	AWARD
5139	CASE	SOUFFLE CUP, 5 - 5.5 OZ - Plastic Soufflé Cup -		1,000	Southwing/primesource	75001329	250//cs	1000	\$36.20	\$36,200.00		1 week	Ladd Safety	
		SHIP LOT: 500 Cases												
										+				

Column 1		Description	Approved Brands	Units 2024- 2025	Bidder Brand	Manufacturer's Product Code	Pack Size	Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	ORDER (IN WEEKS)	Bidder	AWARD
	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15
5140	CASE	LID, SOUFFLE CUP, 5 - 5.5 OZ - Lid, Plastic Souffié Cup- Clear, recessed lid. Must snap tightly on corresponding 5 oz. soufflé cup that may contain liquid. For Shelby County Board of Education to select a successful bidder, pricing must be provided for line Stock #5139 (Cup) and the lowest combined price will prevail. SHIP LOT: 500 Cases	DAXWELL E10004470 SOUTH WING (88400WHC) KARAT FP-PL400-PP	1,000	APT Victoria Bay	035382	2500	1000	\$26.05	\$26,050.00	samples delivered 7/2/24	This is a stock item for APT Memphis warehouse, so lead time will be within 5 days once we build inventory	American Paper & Twine	SAMPLE SENT SAMPLE PASSED
5140	CASE	LID, SOUFFLE CUP, 5 - 5.5 OZ - Lid, Plastic Soufflé Cup- Clear, recessed lid. Must snap tightly on corresponding 5 oz. soufflé cup that may contain liquid. For Shelby County Board of Education to select a successful bidder, pricing must be provided for line Stock #5139 (Cup) and the lowest combined price will prevail. SHIP LOT: 500 Cases	DAXWELL E10004470 SOUTH WING (88400WHC) KARAT FP-PL400-PP	1,000	Daxwell Distribution	E10004470	2500	1000	\$22.16	\$22,160.00		14 business days from receipt of purchase order	Daxwell Distribution	AWARD
5140	CASE	LID, SOUFFLE CUP, 5 - 5.5 OZ - Lid, Plastic Soufflé Cup- Clear, recessed lid. Must snap tightly on corresponding 5 oz. soufflé cup that may contain liquid. For Shelby County Board of Education to select a successful bidder, pricing must be provided for line Stock #5139 (Cup) and the lowest combined price will prevail. SHIP LOT: 500 Cases	DAXWELL E10004470 SOUTH WING (88400WHC) KARAT FP-PL400-PP	1,000	Southwing/primesource	75000643	2500/cs	1000	\$28.20	\$28,200.00		1 week	Ladd Safety	
5141	PAIR	ELBOW LENGTH CLOTH OVEN MITS - Oven Mitt, Hand shaped, Flame Retardant , Material Cotton, Max. Temp. 400 Degrees F, a minimum of 15 in length. Color Tan or Silver. SHIP LOT: 200 Cases	INTEDGE 336-15 BUCCANEER - 15FR-15	400	Buccaneer	special	pair	400	\$7.50	\$3,000.00		2-3 weeks ARO	American Paper & Twine	AWARD
6207	CASE	FOIL INSULATED BAG- Made of foil and paper, dead-fold, laminated for insulation. Moisture & grease resistance. Size to be no smaller than 6 %" X 6 ½". Size to be appropriate for sandwiches and hamburgers. Approximately 1000 bags per case. SHIP LOT: 200 Cases	HOUSEKEEPERS SUPPLY/ BROWN (5A04) FISCHER 806 APT 321601	1,000	BROWN	#5A04	1000/CS	1000	\$33.95	\$33,950.00	APPROVED BRAND	2-3 WEEKS	Housekeepers Supply	
6207	CASE	dead-fold, laminated for insulation. Moisture &	HOUSEKEEPERS SUPPLY/ BROWN (5A04) FISCHER 806 APT 321601	1,000	APT 041510	321601	1000	1000	\$33.80	\$33,800.00		This is a stock item for APT Memphis warehouse, so lead time will be within 5 days once we build inventory	American Paper & Twine	AWARD

Stock Number	Unit	Description	Approved Brands	Estimated Bid Units 2024- 2025	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	Bidder	AWARD
Column 1	Column 2		Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15
6209	CASE	NAPKIN KIT, CONSISTING OF SPOON, STRAW AND 10' X 10" (MINIMUM) napkins sealed in plastic. Packed 1000 kits per case. SHIP LOT: 500 Cases	DAXWELL (B10003268) DAXWELL (B10003515) PENISULAR PAPER COMPANY 3040231 WALLACE 6013	8,000	BERK	#1173670	1000/CS	8000	\$20.26	\$162,080.00	SAMPLE SUBMITTED	2-3 WEEKS	Housekeepers Supply	SAMPLE SUBMITTED SAMPLE PASSED
		NAPKIN KIT, CONSISTING OF SPOON, STRAW	DAYMELL (DAGGGGGG)	-										
6209	CASE	AND 10' X 10" (MINIMUM) napkins sealed in plastic. Packed 1000 kits per case. SHIP LOT: 500 Cases	DAXWELL (B10003505) PENISULAR PAPER COMPANY 3040231 WALLACE 6013	8,000	Wallace 0613	special	1000	8000	\$13.50	\$108,000.00		2-3 weeks ARO, would need to finalize forecast if awarded	American Paper & Twine	SAMPLE SUBMITTED SAMPLE PASSED
6209	CASE	NAPKIN KIT, CONSISTING OF SPOON, STRAW AND 10' X 10" (MINIMUM) napkins sealed in plastic. Packed 1000 kits per case. SHIP LOT: 500 Cases	DAXWELL (B10003268) DAXWELL (B10003515) PENISULAR PAPER COMPANY 3040231 WALLACE 6013	8,000	Daxwell Distribution	B10003515	1000	8000	\$12.52	\$100,160.00		14 business days from receipt of purchase order	Daxwell Distribution	AWARD
6215	CASE	BOWLS, HINGED - 24 oz., clear entree salad bow container. To include hinged top. Breakaway round bowl. Approximately 150 packs per case. If packed differently, please indicate. SHIP LOT: 400		1,800	WNA 5HGRO24TVF	special	150	1800	\$34.25	\$61,650.00	Qouting the described WNA "breakaway" series	2-3 weeks ARO, would need to finalize forecast if awarded	American Paper & Twine	AWARD SAMPLE SUBMITTED SAMPLE PASSED
6215	CASE	BOWLS, HINGED - 24 oz., clear entree salad bow container. To include hinged top. Breakaway round bowl. Approximately 150 packs per case. If packed differently, please indicate. SHIP LOT: 400		1,800	Darnel	78980198	200/cs	1800	\$39.05	\$70,290.00		1 week	Ladd Safety	NO SAMPLE SUBMITTED
6216	CASE	BOWLS, HINGED - 12 oz., clear side salad bowl container. To include hinged top. BreakAway round bowl. Approximately 225 packs per case. If packed differently, please indicate. SHIP LOT: 400	NO APPROVED BRANDS	18,000	НОТРАСК	#RSB12	300/CS	18000	\$41.60	\$748,800.00		APPROX LEAD TIME 10 WEEKS FROM ARO	Housekeepers Supply	NO SAMPLE SUBMITTED
			NO APPROVED BRANDS	+										
6216	CASE	container. To include hinged top. BreakAway round bowl. Approximately 225 packs per case. If packed differently, please indicate. SHIP LOT: 400		18,000	WNA 5HGR012TVF	special	225	18000	\$29.99	\$539,820.00	Qouting the described WNA "breakaway" series	2-3 weeks ARO, would need to finalize forecast if awarded	American Paper & Twine	SAMPLE SUBMITTED SAMPLE PASSED

Stock Number	Unit	Description	Approved Brands	Estimated Bid Units 2024- 2025	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	Bidder	AWARD
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15
6216	CASE	BOWLS, HINGED - 12 oz., clear side salad bowl container. To include hinged top. BreakAway round bowl. Approximately 225 packs per case. If packed differently, please indicate. SHIP LOT: 400	NO APPROVED BRANDS	18,000	Darni	78980146	200/cs	18,000	\$26.30	\$473,400.00		1 week	Ladd Safety	NO SAMPLE SUBMITTED
		JHIF LO1. 400												
6217	CASE	BOWLS, BLACK - 32 oz., Black heat resistant microwavable heavy weight noodle bowl. To include lid. Approximately 150 packs per case. If packed differently, please indicate.	NO APPROVED BRANDS	1,800	HOTPACK	#HPRO32BL	150/CS	1800	\$31.63	\$56,934.00	SAMPLE SUBMITTED	APPROX LEAD TIME 10 WEEKS FROM ARO	Housekeepers Supply	AWARD SAMPLE SUBMITTED
		SHIP LOT: 400												SAMPLE PASSED
6217	CASE	BOWLS, BLACK - 32 oz., Black heat resistant microwavable heavy weight noodle bowl. To include lid. Approximately 150 packs per case. If packed differently, please indicate.	NO APPROVED BRANDS	1,800	Anchor M8532	special	150	1800	\$67.35	\$121,230.00	samples delivered	2-3 weeks ARO, would need to finalize forecast if awarded	American Paper & Twine	SAMPLE SUBMITTED SAMPLE FAILED
		SHIP LOT: 400												
6217	CASE	BOWLS, BLACK - 32 oz., Black heat resistant microwavable heavy weight noodle bowl. To include lid. Approximately 150 packs per case. If packed differently, please indicate.	NO APPROVED BRANDS	1,800	Darnel	78983299	100/cs	1800	\$37.85	\$68,130.00		1 week	Ladd Safety	NO SAMPLE SUBMITTED
		SHIP LOT: 400												
6218	CASE	BOWLS, BLACK - 12 oz., Black soup bowl. To include flat lid. Approximately 500 packs per case. If packed differently, please indicate. SHIP LOT: 200	NO APPROVED BRANDS	700	НОТРАСК	#HPRO12BL	150/CS	700	\$22.12	\$15,484.00	SAMPLE SUBMITTED	APPROX LEAD TIME 10 WEEKS FROM ARO	Housekeepers Supply	AWARD SAMPLE SUBMITTED SAMPLE PASSED
6218	CASE	BOWLS, BLACK - 12 oz., Black soup bowl. To include flat lid. Approximately 500 packs per case. If packed differently, please indicate.	NO APPROVED BRANDS	700	Anchor M5816	special	500	700	\$48.25	\$33,775.00	samples delivered 7/2/24	2-3 weeks ARO, would need to finalize forecast if awarded	American Paper & Twine	SAMPLE SUBMITTED SAMPLE FAILED
		SHIP LOT: 200												
6218	CASE	BOWLS, BLACK - 12 oz., Black soup bowl. To include flat lid. Approximately 500 packs per case. If packed differently, please indicate.	NO APPROVED BRANDS	700	Darnel	78981299	100/cs	700	\$19.82	\$13,874.00		1 week	Ladd Safety	NO SAMPLE SUBMITTED
		SHIP LOT: 200												

Stock Number	Unit	Description	Approved Brands	Estimated Bid Units 2024- 2025	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	Bidder	AWARD
Column 1	Column 2 CASE	Column 3 FORK KIT. CONSIST OF A FORK (heavy weight/heavy duty, shatter proof), STRAW, AND 10' X10" (MINIMUM) NAPKIN, SEALED IN PLASTIC. Heavy weight, shatter proof fork is required to be included in this kit. Approximate Pack: 1000 Kits per case. Specify if packed different. SHIP LOT: 500 Cases	Column 4 NO APPROVED BRANDS	12,000	Column 6 BERK	#1172670	Column 8	12000	Column 10 \$16.58	Column 11 \$198,960.00	SAMPLE SUBMITTED	Column 13 2-3 WEEKS	Column 14 Housekeepers Supply	SAMPLE SUBMITTED SAMPLE PASSED
6219	CASE	FORK KIT. CONSIST OF A FORK (heavy weight/heavy duty, shatter proof), STRAW, AND 10' X10" (MINIMUM) NAPKIN, SEALED IN PLASTIC. Heavy weight, shatter proof fork is required to be included in this kit. Approximate Pack: 1000 Kits per case. Specify if packed different. SHIP LOT: 500 Cases	NO APPROVED BRANDS	12,000	Wallace 6405	special	1000	12000	\$13.45	\$161,400.00	samples delivered 7/2/24	2-3 weeks ARO, would need to finalize forecast if awarded	American Paper & Twine	AWARD SAMPLE SUBMITTED SAMPLE PASSED
6219	CASE	FORK KIT. CONSIST OF A FORK (heavy weight/heavy duty, shatter proof), STRAW, AND 10' X10" (MINIMUM) NAPKIN, SEALED IN PLASTIC. Heavy weight, shatter proof fork is required to be included in this kit. Approximate Pack: 1000 Kits per case. Specify if packed different. SHIP LOT: 500 Cases	NO APPROVED BRANDS	12,000	Daxwell Distribution	B10003825	1000	12000	\$14.50	\$174,000.00	Item is Med Heavy Weight Fork with Straw and 10x10 Napkin	We will require an additional industry standard production lead-time from date of award and then 14 business days from receipt of purchase order	Daxwell Distribution	SAMPLE SUBMITTED SAMPLE PASSED
6219	CASE	FORK KIT. CONSIST OF A FORK (heavy weight/heavy duty, shatter proof), STRAW, AND 10' X10" (MINIMUM) NAPKIN, SEALED IN PLASTIC. Heavy weight, shatter proof fork is required to be included in this kit. Approximate Pack: 1000 Kits per case. Specify if packed different. SHIP LOT: 500 Cases	NO APPROVED BRANDS	12,000	Daxwell Distribution	ALTERNATE B10001967	1000	12000	\$12.52	\$150,240.00	Item is Med Weight Fork with Straw and 10x10 Napkin	14 business days from receipt of purchase order	Daxwell Distribution	
6220	CASE	UTILITY CONTAINER - 5x5 small clam shell utility container. Clear with hinged lid. Approximately 500 packs per case. If packed differently, please indicate. SHIP LOT: 200	NO APPROVED BRANDS	600	PACTIV	#YCI1810500000	375/CS	600	\$28.12	\$16,872.00		2-3 WEEKS	Housekeepers Supply	

Stock Number	Unit	Description	Approved Brands	Estimated Bid Units 2024- 2025	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	Bidder	AWARD
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8		Column 10	Column 11	Column 12	Column 13	Column 14	Column 15
6220	CASE	UTILITY CONTAINER - 5x5 small clam shell utility container. Clear with hinged lid. Approximately 500 packs per case. If packed differently, please indicate. SHIP LOT: 200		600	Pactiv YC181500000	special	375	800	\$28.00	\$16,800.00	samples delivered 7/2/24. This is and alrenate bid for the line, using the Pactiv brand. The Qty per case is less @375, but the cost per container is also less at .07466 each	14-21 days ARO	American Paper & Twine	AWARD SAMPLE SUBMITTED SAMPLE PASSED
6220	CASE	UTILITY CONTAINER - 5x5 small clam shell utility container. Clear with hinged lid. Approximately 500 packs per case. If packed differently, please indicate. SHIP LOT: 200	NO APPROVED BRANDS	600	Pactive	16201426	375/cs	600	\$25.75	\$15,450.00		1 week	Ladd Safety	NO SAMPLE SUBMITTED
6221	CASE	container w/ hinged lid. Approximate length, a minimum of 8.5", width a minimum of 8", and height a minimum of 1.8". Packed approximately 120 per case. If packed differently, please indicate.	NO APPROVED BRANDS	500	WNA 5HG032TVF	special	130	500	\$28.10	\$14,050.00	Qouting the described WNA "breakaway" series	14-21 days ARO	American Paper & Twine	AWARD SAMPLE SUBMITTED SAMPLE PASSED
		SHIP LOT: 100												
6222	CASE	SINGLE SERVE WINDOW BAG - 5" x 1.5" x 7"- Kraft Brown. Grease resistant paper provides stain protection. Approximately 500 packs per case. If packed differently, please indicate. SHIP LOT: 100		400	BROWN	#12P07	2000/CS	400	\$53.94	\$21,576.00	SAMPLE SUBMITTED	2-3 WEEKS	Housekeepers Supply	AWARD SAMPLE SUBMITTED SAMPLE PASSED
6222	CASE	SINGLE SERVE WINDOW BAG - 5" x 1.5" x 7" - Kraft Brown. Grease resistant paper provides stain protection. Approximately 500 packs per case. If packed differently, please indicate. SHIP LOT: 100	NO APPROVED BRANDS	400	Bagcraft 300114	330017	500	400	\$36.50	\$14,600.00	samples delivered 7/2/24	This is a stock item for APT Memphis warehouse, so lead time will be within 5 days once we build inventory	American Paper & Twine	AP&T only has 500 single serve window bags per case, which would cost Nutrition Services \$146.00 to equate out to that of Housekeepers Supplies \$50.00 for 2000 aprons per case. Therefore, the award will now go to Housekeepers Supplies.
6224	CASE	GRAB 'N' GO KIT COMBO, CLEAR - 12 oz. plastic grab 'n' go kit combo no hole with 2-compartment insert clear and dome lid. Packed 100 per case. Please indicate pack size. SHIP LOT: 200	NO APPROVED BRANDS	600	Dart PF35C2CP	Special	500	40	\$144.00	\$86,400.00	Dart item, packed 1500 kits to a case, SCS would only need 120 cases at \$17280.	14-21 days ARO	American Paper & Twine	NO SAMPLE SUBMITTED

Stock Number	Unit	Description	Approved Brands	Estimated Bid Units 2024- 2025	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	Bidder	AWARD
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15
6225	CASE	BOXES, CORRUGATED, 18 X 14 X 10. Note: Above containers are to be 200 pound test, RSC, C-Fluted , Glued inside, plain, bundled and/or unitized. 125 boxes per bundle. SHIP LOT: 10 BUNDLES	NO APPROVED BRANDS	10	APT 041719	041719	400 per pallet	3	\$535.00	\$5,350.00	There are 400 per pallet on this size. You only need 1250 total, so real spend is \$535 X 3, or \$1605	APT Memphis warehouse, so lead	American Paper & Twine	NO SAMPLE SUBMITTED
6229	CASE	BAGS, CLEAR - 6X6 clear bags with ties. Approximately pack 200 per case. Please indicate pack size. SHIP LOT: 100	NO APPROVED BRANDS	800					\$0.00	\$0.00				NO BID
6230	CASE	KNIFE - Plastic knife approximately 5 1/2 to 6 inches in length, wrapped or sealed in plastic. Packed 1000 knives per case. Please indicate pack size. SHIP LOT: 200	NO APPROVED BRANDS	400	BERK	#1101000	1000/CS	400	\$10.65	\$4,260.00	SAMPLE SUBMITTED	2-3 WEEKS	Housekeepers Supply	SAMPLE SUBMITTED SAMPLE PASSED
6230	CASE	KNIFE - Plastic knife approximately 5 1/2 to 6 inches in length, wrapped or sealed in plastic. Packed 1000 knives per case. Please indicate pack size. SHIP LOT: 200	NO APPROVED BRANDS	400	Wallace 3541	special	1000	400	\$6.95	\$2,780.00	samples delivered 7/2/24	2-3 weeks ARO, would need to finalize forecast if awarded	American Paper & Twine	AWARD SAMPLE SUBMITTED SAMPLE PASSED
6230	CASE	KNIFE - Plastic knife approximately 5 1/2 to 6 inches in length, wrapped or sealed in plastic. Packed 1000 knives per case. Please indicate pack size. SHIP LOT: 200	NO APPROVED BRANDS	400	Daxwell Distribution	A10001392	1000	400	\$5.51	\$2,204.00		14 business days from receipt of purchase order	Daxwell Distribution	SAMPLE SUBMITTED SAMPLE FAILED
6230	CASE	KNIFE - Plastic knife approximately 5 1/2 to 6 inches in length, wrapped or sealed in plastic. Packed 1000 knives per case. Please indicate pack size. SHIP LOT: 200	NO APPROVED BRANDS	400	Primesource	75002481	1000/cs	400	\$10.05	\$4,020.00		1 week	Ladd Safety	
6231	CASE	CONTAINER, FOUR COMPARTMENT - 4- Compartment resistant container, clear. 24 oz. fill capacity. Leak resistant seal. Packed 300 containers per case. Item must meet the matching lid (Stock ID 6232) SHIP LOT: 100	NO APPROVED BRANDS	200	PACTIV	#GS6-4	300/CS	200	\$64.71	\$12,942.00		2-3 WEEKS	Housekeepers Supply	

	Unit	Description	Approved Brands	Units 2024- 2025	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	Bidder	AWARD
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8		Column 10	Column 11	Column 12	Column 13	Column 14	Column 15
6231	CASE	CONTAINER, FOUR COMPARTMENT - 4- Compartment resistant container, clear. 24 oz. fill capacity. Leak resistant seal. Packed 300 containers per case. Item must meet the matching lid (Stock ID 6232) SHIP LOT: 100	NO APPROVED BRANDS	200	Pactiv 9509506	special	300	200	\$56.00	\$11,200.00	samples delivered 7/2/24	2.2 weeks ABO would		AWARD
6231	CASE	CONTAINER, FOUR COMPARTMENT - 4- Compartment resistant container, clear. 24 oz. fill capacity. Leak resistant seal. Packed 300 containers per case. Item must meet the matching lid (Stock ID 6232) SHIP LOT: 100	NO APPROVED BRANDS	200	Pactive	13309506	300/cs	200	\$61.45	\$12,290.00		1 week	Ladd Safety	
6232	CASE	LID, PLASTIC - Plastic recessed tamper evident/resistant lid, clear for four compartment container. Packed 300 containers per case. Please indicate pack size. Item must meet the matching four compartment container (Stock ID 6231) SHIP LOT: 100	NO APPROVED BRANDS	200	PACTIV	#LGS-6	300/CS	200	\$38.80	\$7,760.00		2-3 WEEKS	Housekeepers Supply	
6232	CASE	LID, PLASTIC - Plastic recessed tamper evident/resistant lid, clear for four compartment container. Packed 300 containers per case. Please indicate pack size. Item must meet the matching four compartment container (Stock ID 6231) SHIP LOT: 100	NO APPROVED BRANDS	200	Pactiv 9509521	special	300	200	\$33.75	\$6,750.00	samples delivered 7/2/24	2-3 weeks ARO, would need to finalize forecast if awarded	American Paper & Twine	AWARD SAMPLE SUBMITTED SAMPLE PASSED
6232	CASE	LID, PLASTIC - Plastic recessed tamper evident/resistant lid, clear for four compartment container. Packed 300 containers per case. Please indicate pack size. Item must meet the matching four compartment container (Stock ID 6231) SHIP LOT: 100	NO APPROVED BRANDS	200	Pactive	13309521	300/cs	200	\$37.15	\$7,430.00		1 week	Ladd Safety	
		DIGITAL DIMETALIO TICTORIO	TAN/ OR 0040FFRA											
7009	EACH	DIGITAL, BIMETALIC THERMOMETER - Digital waterproof thermometer, 3-inch stem length, antimicrobial sleeve for housing. Temperature range from -40 to 450 fahrenheit. Complies with HACCP recalibration requirements. SHIP LOT: 200	TAILUR 9040EFDA	200	Taylor 9848EFDA	955096	each	200	\$16.95	\$3,390.00		2-3 weeks ARO, would need to finalize forecast if awarded	American Paper & Twine	SAMPLE SUBMITTED SAMPLE PASSED

Stock Number	Unit	Description	Approved Brands	Estimated Bid Units 2024- 2025	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	Bidder	AWARD
Column 1	Column 2	Column 3 TEST STRIP - A test strip of a 50 or 100 count for	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15
7010	EACH	a non-alkaline quaternary ammonium sanitizing solution. The strip must come with a with a color comparison chart that measures between 0-500 ppm. Please indicate how in the notes section how many come in a case.	AMERICAN PAPER & I WINE/SPARTAN 3636	200	Spartan 9838	030145	1	200	\$6.95	\$1,390.00	This do not come in a case, they are sold by the box/pkg of 100 each.	This is a stock item for APT Memphis warehouse, so lead time will be within 5 days once we build inventory	American Paper & Twine	AWARD
		SHIP LOT: 100												1
7011	EACH	THERMOMETER, DRY STORAGE - Dial thermometer, indoor/outdoor wall thermometer. Shatter resistant.	TAYLOR 5135N	400	TAYLOR	#5135N	EACH	400	\$4.83	\$1,932.00	APPROVED BRAND	2-3 WEEKS	Housekeepers Supply	
		SHIP LOT: 200									BRAND			
		THERMOMETER, DRY STORAGE - Dial	TAYLOR 5135N											
		thermometer, indoor/outdoor wall thermometer. Shatter resistant.												AWARD
=044	E4011			400				400			samples delivered	2-3 weeks ARO, would		
7011	EACH	SHIP LOT: 200		400	sanjamar	special	each	400	\$4.15	\$1,660.00	7/2/24	need to finalize forecast if awarded	American Paper & Twine	SAMPLE SUBMITTED
														SAMPLE PASSED
														1
		OLOVEO OUT DEGICTANT LABOR A 17	NO APPROVED DRAND											
6223	EACH	GLOVES, CUT RESISTANT, LARGE - Ansi 7, Knit, Cut resistant gloves with ambidextrous features, 11x more abrasion resistance. Size: Large 18 inch	NO APPROVED BRAND	200	APT MCR9399GL	special	each	200	\$11.00	\$2,200.00		2-3 weeks ARO, would need to finalize forecast if awarded	American Paper & Twine	MSCS Stock #
		SHIP LOT: 100										awaiueu		
		GLOVES, CUT RESISTANT, LARGE - Ansi 7,	AMERICAN PAPER & TWINE MCR9345MD											
6223	EACH	Knit, Cut resistant gloves with ambidextrous features, 11x more abrasion resistance. Size: Large 18 inch		200	APT/MCR	MCR9345	each	200	\$7.50	\$1,500.00		1 week	Ladd Safety	AWARD
		SHIP LOT: 100												1
		GLOVES, CUT RESISTANT, MEDIUM- Ansi 7,	AMERICAN PAPER & TWINE MCR9345MD											
7013	EACH	Knit, Cut resistant gloves with ambidextrous features, 11x more abrasion resistance. Size: Medium		200	APT MCR9345MD	956232	each	200	\$8.75	\$1,750.00		2-3 weeks ARO, would need to finalize forecast if awarded	American Paper & Twine	e
		SHIP LOT: 100												
		GLOVES, CUT RESISTANT, MEDIUM- Ansi 7,	AMERICAN PAPER & TWINE MCR9345MD											<u> </u>
7013	EACH	Knit, Cut resistant gloves with ambidextrous features, 11x more abrasion resistance. Size: Medium		200	APT/MCR	MCR9345	each	200	\$7.50	\$1,500.00		1 week	Ladd Safety	AWARD
		SHIP LOT: 100												

Stock Number	Unit	Description	Approved Brands	Estimated Bid Units 2024- 2025	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	Bidder	AWARD
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15
7014	EACH	GLOVES, CUT RESISTANT, EXTRA LARGE - Ansi 7, Knit, Cut resistant gloves with ambidextrous features, 11x more abrasion resistance. Size: Extra Large SHIP LOT: 100	AMERICAN PAPER & TWINE MCR9345XLD	200	APT MCR9345XLD	956233	each	200	\$8.95	\$1,790.00		2-3 weeks ARO, would need to finalize forecast if awarded	American Paper & Twine	
7014	EACH	GLOVES, CUT RESISTANT, EXTRA LARGE - Ansi 7, Knit, Cut resistant gloves with ambidextrous features, 11x more abrasion resistance. Size: Extra Large SHIP LOT: 100	AMERICAN PAPER & TWINE MCR9345XLD	200	APT/MCR	MCR9345	each	200	\$7.50	\$1,500.00		1 week	Ladd Safety	AWARD

MEMPHIS-SHELBY COUNTY SCHOOLS (MSCS) 2024-2025 CHEMICAL BID

Stock Number	Unit	Description	Approved Brands	Estimated Bid Units 2024-2025	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	Bidder	AWARD
Column 1	Column 2	Column 3 Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Column 5	Column 6 Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15
5082	CASE		APT SANI PRO WIPES B37900-35084 SANIPRO WIPES 47989 TAYLOR 9999NDG	600	Apt 047989	478989	10/100 per case	600	\$ 27.5000	\$ 16,500.00		This is a stock item for APT Memphis warehouse, so lead time will be within 5 days once we build inventory	American Paper & Twine	AWARD
7000	CASE	OVEN CLEANER, AEROSOL - Oven, Grill and Stainless Steel Spray Cleaner. Packaged in 6/24 ounce Aerosol cans per case. Items must be accompanied by the Safety Data Sheet (SDS). SHIP LOT: 100 Cases	CLEAN FORCE 8000164 EASY OFF FUME FREE 74017	200	EASY OFF FUME FREE	#85260	6-24ozcan/CS	200	\$ 39.0800	\$ 7,816.00	APPROVED BRAND (MANUFACTURE CHANGED PART # FROM 74017 TO 85260) SPECS STILL MATCH	2-3 WEEKS	Housekeepers Supply	
7000	CASE	OVEN CLEANER, AEROSOL - Oven, Grill and Stainless Steel Spray Cleaner. Packaged in 6/24 ounce Aerosol cans per case. Items must be accompanied by the Safety Data Sheet (SDS). SHIP LOT: 100 Cases	CLEAN FORCE 8000164 EASY OFF FUME FREE 74017	200	Easy Off Fume free 74017	763361	6	200	\$ 39.0000	\$ 7,800.00		This is a stock item for APT Memphis warehouse, so lead time will be within 5 days once we build inventory	American Paper & Twine	AWARD
7000	CASE	OVEN CLEANER, AEROSOL - Oven, Grill and Stainless Steel Spray Cleaner. Packaged in 6/24 ounce Aerosol cans per case. Items must be accompanied by the Safety Data Sheet (SDS). SHIP LOT: 100 Cases	CLEAN FORCE 8000164 EASY OFF FUME FREE 74017	200	EASY OFF	RAC85260	6/CS	200	\$ 42.8000	\$ 8,560.00		1 WEEK	Ladd Safety	

MEMPHIS-SHELBY COUNTY SCHOOLS (MSCS) 2024-2025 CHEMICAL BID

-		<u>.</u>												
7001	CASE	BLEACH. DISINFECTANT - Approximate Pack 6 Gallons per case. Sanitizing and Disinfecting agent. Sodium Hypochlorite content must be a minimum of 6.25 Percent. Acceptable for food grade sanitizing. Items must be accompanied by the Safety Data Sheet (SDS). SHIP LOT: 100 Cases	CLOROX 02490 VERTEX CSS-5 AROCEP 55852-5	600	AROCEP	#55852-5	6GAL/CS	600	\$ 19.5000	\$ 11,700.00	APPROVED BRAND SHIP LOT = 420CS	2-3 WEEKS	Housekeepers Supply	AWARD
7001	CASE	BLEACH. DISINFECTANT - Approximate Pack 6 Gallons per case. Sanitizing and Disinfecting agent. Sodium Hypochlorite content must be a minimum of 6.25 Percent. Acceptable for food grade sanitizing. Items must be accompanied by the Safety Data Sheet (SDS). SHIP LOT: 100 Cases	CLOROX 02490 VERTEX CSS-5 AROCEP 55852-5	600	Clorox	744459	3	27	\$ 24.7500	\$ 14,850.00	This is the best bleach on the market. It is concnetrated, so each 121 ounce container equals 45 gallons of regular bleach. This means you would only use 27 cases of Clorox @ \$24.75, so total spend is \$1980.00	This is a stock item for APT Memphis warehouse, so lead time will be within 5 days once we build inventory	American Paper & Twine	
7001	CASE	BLEACH. DISINFECTANT - Approximate Pack 6 Gallons per case. Sanitizing and Disinfecting agent. Sodium Hypochlorite content must be a minimum of 6.25 Percent. Acceptable for food grade sanitizing. Items must be accompanied by the Safety Data Sheet (SDS). SHIP LOT: 100 Cases	CLOROX 02490 VERTEX CSS-5 AROCEP 55852-5	600	VERTEX	75000350	6/CS	600	\$ 18.6500	\$ 11,190.00		1 WEEK	Ladd Safety	
7002	CASE	WIPES, DISINFECTANT, BUCKET OR CANISTER. Disinfectant wipes for food contact surfaces,hard, non-porous surfaces and aids in the reduction of cross contamnation of treated surfaces. Approximate sheet size 8.0" x 6.25". Case pack: Approximately 1600 sheets. Items must be accompanied by the Safety Data Sheet (SDS). SHIP LOT: 200 Cases		1,200	Gojo 1114764	1114764	6/110 wipes per canister	1200	\$ 51.2500	\$ 61,500.00		This is a stock item for APT Memphis warehouse, so lead time will be within 5 days once we build inventory	American Paper & Twine	AWARD
7002	CASE	WIPES, DISINFECTANT, BUCKET OR CANISTER. Disinfectant wipes for food contact surfaces, hard, non-porous surfaces and aids in the reduction of cross contamnation of treated surfaces. Approximate sheet size 8.0" x 6.25". Case pack: Approximately 1600 sheets. Items must be accompanied by the Safety Data Sheet (SDS). SHIP LOT: 200 Cases		1,200	Wipes Plus 33808	041022	12/100 wipes per canister	600	\$ 85.0000	\$ 102,000.00	This is an alternate to the Gojo approved item for line 7002. Samples and SDS were delivered on 7/2/24, This is packed 12 canisters to a case with 100 wipes per canister, so SCS would only need to purchase 600 cases, Real spend would be \$51,000		American Paper & Twine	

MEMPHIS-SHELBY COUNTY SCHOOLS (MSCS) 2024-2025 CHEMICAL BID

7002	CASE	WIPES, DISINFECTANT, BUCKET OR CANISTER. Disinfectant wipes for food contact surfaces,hard, non-porous surfaces and aids in the reduction of cross contamnation of treated surfaces. Approximate sheet size 8.0" x 6.25". Case pack: Approximately 1600 sheets. Items must be accompanied by the Safety Data Sheet (SDS). SHIP LOT: 200 Cases		GOTO	9342-06	6/CS	1200	\$ 53.0000	\$ 63,600.00		1 WEEK	Ladd Safety	
7004	CASE		EPERS SUPPLY CO. CAN SPRAY 5279-05K	HOUSEKEEPERS SUPPLY	#5279-05K	6-1/2GAL/CS	500	\$ 41.9400	\$ 20,970.00	APPROVED BRAND	2-3 WEEKS	Housekeepers Supply	AWARD
7012	CASE	WIPES, STAINLESS STEEL - Approximately 9.5 x 12 inches. Easy to use premoistened wipes specifically designed to clean, brighten, polish and protect stainless steel. Scented fragrance. Can be used on dishwashers, steam tables, refrigerators, freezers, and other stainless steel contact surfaces. Packed approximately 6 containers per case. Please indicate if packed differently. SHIP LOT: 200 Cases	VED BRANDS	APT Victoria Bay	760052	6/cn	800	\$ 54.0000	\$ 43,200.00	Samples delivered on 7/2/24	This is a stock item for APT Memphis warehouse, so lead time will be within 5 days once we build inventory	American Paper & Twine	AWARD
7015	CASE	DETERGENT, DISH - Concentrated dish detergent, scented and safe for hand use. Designed to remove substances from pots, pans, glassware, and silverware. Complete spot-free cleaning for air drying. Packed approximately 4 gallons per case. Please indicate if packed differently. SHIP LOT: 100 Cases	VED BRANDS	APT Victoria Bay P281	744972	4	200	\$ 21.9500	\$ 4,390.00	Samples delivered on 7/2/24	This is a stock item for APT Memphis warehouse, so lead time will be within 5 days once we build inventory	American Paper & Twine	AWARD